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Introduction

The National Center for Assessment in Higher Education (NCA) publishes materials introducing and

explaining the various tests the Center produces. Often the publications include:

» abrief pamphlet directed to educators and administrators explaining the approach of a particular
test, how it was developed, some suggestions as to how the test could be useful and providing

some statistical information regarding validity, reliability, etc.

 a booklet intended to briefly familiarize those who are planning to take the test, giving some
examples of the domains covered, the types of questions used and familiarizing the future test-

taker with the general format and lay-out of the test.

A third and more ambitious publication accompanying the NCA tests may include an in-depth survey
of the types of questions the test-taker will find as well as a guide to reviewing the type of material that
may be presented on the test. The Center presents STEP, A Guide for Students to fill that role. Although
necessarily brief compared to the voluminous material regarding the English language, it still attempts
to systematically cover the major elements of the English language that are most likely to play a role
in a STEP test. In conjunction with the test-takers prior study and use of English, we hope it can serve
as a useful review and renewal of not only the points examined in the test but also to an invigorated

motivation and delight in the very process of learning.

In order to give the test-taker a real ‘feel’ for the STEP test, the Study Guide presents two model tests
that are based on the actual formatting and presentation of a real STEP test, even utilizing the same

general wording for the instructions. An answer key is provided at the end of each of the model tests.

NCA offers this Study Guide with the hope that it will enable test-takers to be comfortable and confident
in approaching STEP and lessen test anxiety that sometimes plays a negative role in the taking of

standardized tests.
The Center wishes to express gratitude to the many people who have contributed to the production

of this Study Guide. Their time, their energy and their expertise have undoubtedly improved the
usefulness and quality of this offering. To enumerate some of those who have contributed, we must
mention the item writers and item reviewers; those who read and revised and then re-read the versions
that have resulted in this publication — both individual reviewers and those sitting in review committees;
the Graphics Department of the Center whose sharp eyes and expertise drew attention to points that
otherwise would have been overlooked; to outside consultants who were called upon to read, review

and offer suggestions for revisions during the various stages of this publication.

Dr. Abdulrahman H. al-Shamrani
Department of Language Testing
19 March 2012
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= PartI: The Four Components of STEP

Background

Based on growing international needs for the English language, several academic and non-academic
institutions have approached the National Center for Assessment in Higher Education (Qiyas) calling for the
development of an English test that could test the proficiency of their applicants. Consequently the Center
formed a Committee consisting of specialists in the fields of English and psychological measurement. The
Committee looked first into available international, regional and local test experiences and practices. It also
visited and consulted institutions specialized in standardized language testing. After an elaborate survey
the Committee reached a conclusion on the need and formation of the test.

What is STEP?

STEP is an acronym for Standardized Test of English Proficiency. It is designed in an objective and unbiased
manner to test a person’s level of proficiency in the use of English. The test is made up of the following four
components:

1. Reading Comprehension (RC — 40%),

2. Structure (ST —30%),

3. Listening Comprehension (LC — 20%),

4. Compositional Analysis (CA — 10%).

The Committee chose these four components and their respective weights after consultation and research
into the approach of both regional and international bodies responsible for the production of similar English
tests and feedback provided by national organizations requesting such a test. These values may be altered
at a later date depending on statistical analysis. It should be added that STEP is uniquely designed by
English language professors and experts native to the region and therefore knowledgeable of the abilities
and the needs locally. This drastically lowers the possibility of cultural and social bias and provides a more
appropriate tool for objective assessment.

Goals

The test shall be used to fulfill the following specific goals:

* Academic admission to the English Departments at Universities or Colleges.
* Academic exemption from certain courses.

+ Issuing reports of general English proficiency for applicants.

Standardized Test of English Proficiency
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Who should take the test?

» Students entering college.

* Students seeking a course waiver.

* Students entering a graduate studies program.

« Teachers pursuing certification.

« Individuals pursuing employment in the private sector.

Test Formation

The actual STEP test has 100 questions distributed among the four components previously mentioned. '
With additional time allotted for non-scorable trial questions and instructions, the total test time is 3 hours.

Some General Advice

Although there is a tendency for students to ‘cram’ for a test, this is not advisable. In fact, some students
are tempted to stay up ‘studying’ to the point of losing sleep and perhaps not paying attention to eating
properly. Begin your preparation for taking any test well ahead of time. Spend a previously allotted amount
of time on focused and active study. Take breaks to renew your energy and concentration. Time set aside for

an appropriate amount of sleep and nutritious meals should be seen as part of your preparation.
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Part 1: Reading Comprehension

Reading comprehension comprises 40% of the items on a STEP test. Aftera medium length reading passage
or in some cases a short reading passage (sometimes only one sentence), the test-taker is asked to respond
to multiple choice questions that involve several reading skills in relation to the reading passage:

1. Word Meaning.

2. Reading to Perform a Task.

3. Demonstrating General Understanding.

4. Developing an Interpretation.

5. Examining Content.

1. Word Meaning

The test-taker has to select the choice closest in meaning to the word as it is in its context. In other words,
a word can have several meanings, but the target meaning is the one that harmonizes with the context.
The word star, for example, can have several different meanings depending on context. We might have a
reading about a three-star general; the reading may be about a star student or it may be about a star in a
movie. Idiomatically, it may be used to describe the experience immediately following a heavy blow to the
head, asin'seeing stars.' Each one of those usages of star has a different meaning. However, if the passage
is clearly about the sky, then the word star will not mean any of those things. Rather, it will refer to the
bright objects we can see in the sky at night.

Look at the following example of a word meaning question:

Example: A fake friend and a shadow attend only while the sun shines.

The word fake in the above saying is closest in meaning to:
A. counterfeit B. authentic

C. similar D. duplicate

For this question, the meaning of the sentence paints a picture that provides a clue to the meaning of the
word. When the sun is shining (when the weather is good), | have a shadow. When the sun is gone behind
some clouds or it is raining, | do not have a shadow. A fake friend is one who is with me when things are
going well —like when the sun is shining. As soon as things are not going well, such a friend is no longer with
me — like when my shadow disappears as soon as the sun is behind clouds. In other words, he or sheis not a
true friend, but a false or fake friend. Choice (A) is therefore the closest in meaning.

@
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2. Reading to Perform aTask.
First use skimming and scanning techniques to search for information in the reading passage or material
given. Confirm answers then by reading the passage thoroughly. Charts, schedules, directions, recipes,
forms, maps, or graphs may at times be the type of reading from which information must be gathered. Some
questions of this nature may ask students to reach logical conclusions or inferences based on information
given.

Example questions on the Table of Contents (see following page):

1. Which chapter in this book is the longest?
A. Chapter 2 B. Chapter 3

C. Chapters D. Chaptery

2. Where can | find the Index and Glossary in this book?
A. After the Study Guide. B. Before ‘Current Studies".
C. Inthe 7th chapter. D. At the end of the book.

3. Which chapter most likely includes information on Arabic language structure?

A. Chapter 4 B. Chapter g
C. Chapter 6 D. Chapter7y

4. Where would you expect to find examples contrasting two different languages, showing similarities
and dissimilarities?

A. Chapter1 B. Chapter 2
C. Chapter 4 D. Chapter6

5. Inwhat chapter would you expect to find a discussion on meaning?

A. Chapter 2 B. Chapter 3
C.Chapterg D. Chapter 6

6. What subject does this book deal with?
A. General Lingusitics B. Psycholinguistics

C. Sociolinguistics D. Neurolinguistics

( answer key at bottom of next page )
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Fundamental Studies in Linguistics
Roger Cartinion, Susan Mulligan
Table of Contents
Introduction 4
Study Guide 4
Chapter 1
Understanding the Basics of Language 6
Chapter 2
Early Linguistic Research oL
Chapter 3
The Concept of Language Families 37
Chapter 4
Comparative Linguistics 43
Chapter 5
Focus on Semitic Language Structures 57
| Chapter 6
i The Role of Semantics 88
Chapter 7
Current Studies 107
Index and Glossary 139
answer key
1.6 2.D 3B 4.C 5D 6. A
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3, Demonstrating General Understanding.

Some ways that test-takers may be asked to show a general understanding of a passage may include:
1. Responding to questions that relate to statements in the passage.
2. ldentifying the topic of a passage or a paragraph in the passage.
3. Recalling the correct sequence of events or cause and effect relationships.
4. ldentifying important details given in the passage and perhaps indicate similarities and/or
differences. _
5. Indicating the words or concepts that a referent refers to.

4. Developing an Interpretation.

To develop an interpretation, the test-taker must look beyond what is explicitly stated in a passage and
show a more complete understanding of what was read. Questions of this nature would include:

1. Identifying implicit cause and effect relationships.
2. Predicting probable future outcomes or actions.
3. Drawing conclusions based on specific facts and/or events in the passage.

5. Examining Content

Examining content and structure requires students to critically analyze and evaluate the passage. Such
questionsrequire the studentsto considerthe passage objectively, and evaluateiits quality and effectiveness.
Test-takers may be asked to:

1. Draw conclusions about the motivation or purpose for writing a passage;

2. Identify whether portions of the passage are facts or opinions

Examples of points 3, 4, and 5 will be seen in the questions to the following reading passage.
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6. Some Practical Advice
A few very practical things to notice that will always be found on the STEP test for a reading
passage:

A. The lines in the passage itself are not numbered. Rather than numbering the lines, the
paragraphs themselves are numbered.

B. The format uses a two-line break to indicate a new paragraph rather than indentation.

C. Some words or phrases in the passage may be in bold letters. When you read the passage and
come across such bolded words, you can be sure that there will be a question directly relating
to them. Most likely it will be a word meaning question.

D. Asageneral rule, reading passages are not given a title on the STEP test. Sometimes, though
not always, you may be asked to select what you think is the best title for a passage.

E. Questions follow the paragraphs of a passage in sequence.

=

Questions that ask for a title or the general meaning of a passage are always the last questions
about that passage.

As you turn your attention to a reading passage, one approach or method that may work well for you is to
use the questions that follow the passage as a guide for an initial scanning of the passage. As mentioned
above, the questions are arranged so that they follow the material in the passage. The first question will
most likely deal in some way with the first paragraph. Of course, in some cases there may not be a question
regarding the material in the first paragraph — the first question may be about something in the second
paragraph. In any case, the questions track through the material in the passage sequentially. By scanning
along through the passage using the questions as a guide you may be able to find some of the answers in
a time-saving manner. If you follow this suggestion, you will come across some questions that you may
not be able to answer simply by skimming or scanning the passage. Skip such questions and save them for
a more careful reading of the passage. Don't forget to go back and make sure you have answered all the
questions.

The last questions for a particular reading passage will be the questions that may call upon you to identify
the general topic of the whole reading, choose a title or select what you think is the main idea of the passage.
Such questions, of course, require a grasp of the meaning of the passage taken as a whole. After your initial
scanning and then going back to re-read the passage for the answers not easily found quickly, you will have
become familiar with the passage. Still, you may well find that you will need to read through the passage
again before choosing the best answer for such a question.

Standardized Test of English Proficienc
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7. Sample Reading Passage and Questions

Passage

1)

2)

3)

4)

5)

6)

How many things can you see in the night sky? A lot! On a clear night you might see the moon,
some planets, and thousands of sparkling stars. You can see even more with a telescope. You
might see stars where before you only saw dark space. You might see that many stars look larger
than others. You might see that some stars that look white are really red or blue. With bigger and
bigger telescopes you can see more and more objects in the sky. And you can see those objects
in more and more detail.

But scientists believe there are some things in the sky that we will never see. We won't see them
with the biggest telescope in the world, on the clearest night of the year. That's because they're
invisible. They’re the mysterious dead stars called black holes.

You might find it hard to imagine that stars die. After all, our Sun is a star. Year after year we see
it up in the sky, burning brightly, giving us heat and light. The Sun certainly doesn’t seem to be
getting old or weak. But stars do burn out and die after billions of years.

As the gases of a star burn, they give off light and heat. But when the gas runs out, the star stops
burning and begins to die. As the star cools, the outer layers of the star pull in toward the center.
The star squashes into a smaller and smaller ball. If the star was very small to begin with, the
star ends up as a cold, dark ball called a black dwarf. If the star was very big, it keeps squashing
inward until it's packed together tighter than anything in the universe.

Imagine if the Earth were crushed until it was the size of a tiny marble. That's how tightly this
dead star, a black hole, is packed. What pulls the star in toward its center with such power? It's
the same force that pulls you down when you jump — the force called gravity. A black hole is so
tightly packed that its gravity sucks in everything — even light. The light from a black hole can
never come back to your eyes. That's why you see nothing but blackness.

So the next time you stare up at the night sky, remember: there’s more in the sky than meets the
eye! Scattered in the silent darkness are black holes —the great mystery of space.
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Questions

1. What can bigger:teiescopes see?
A. Hidden planets. B. Dark spaces.
C. Larger sparkles. D. Other bodies.

Answer 1: It is not possible to see hidden planets, even with a telescope, so (A) is not correct. Dark spaces
remain dark spaces even if they are seen through a telescope, so (B) is not correct. Stars sparkle, but it isn't
exactly accurate to say that we can see larger sparkles with the help of a telescope, so (C) is not correct. That
leaves us with (D) as the correct choice. Paragraph (1) says that with a telescope we can see more and more
* objects. Objects are bodies in the sky.

2. According to paragraph (2), which of the following is NOT true about black holes?
A. They are mysterious. B. They are invisible.

C. They are dead. D. They are big.

Answer 2: Only one of the 4 possible choicesis NOT mentioned in the passage. By the process of elimination
as we scan the paragraph, we can conclude that only (D) is not mentioned, so it is the correct answer.

3. What does paragraph (3) say about our Sun?
A. Itis not a star. B. It is almost dead.

C. It gives light but not heat. D. It will burn out and die.

Answer 3: Paragraph (3) states that our Sunis in fact a star that gives us light and heat, so choices (A) and (C)
are not correct. Our sun will, like all stars, eventually burn out and die — but this will not happen for a long
long long time. Since that is true, choice (D) is correct and choice (B) is not correct.

4. The word squashing in paragraph (4) is closest in meaning to which of the following?
A. hitting B. shrinking
C. rotating D. breaking

Answer 4: From the immediate context of the word (which appears as squashing and also squashes in this
paragraph), we are led to (B) as the correct answer. It is stated in this paragraph that ‘the outer layers of
the star pull in toward the center’ and ‘the star squashes into a smaller and smaller ball’ which is shrinking.

P
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5. According to paragraph (4), why does a star gives off light and heat?
A. Because it reflects light.
B. Because it burns its own fuel.
C. Because of its mirror-like surface.

D. Because of the high temperature of space.

Answer 5: Moons and planets reflect light, not stars; choice (A) is not correct. Probably (B) is the correct
answer, but we should see if (C) or (D) may be more accurate. Choice (C) doesn’t make sense because
a mirror-like surface would be useful for reflecting light and choice (D), the temperature of space, isn't
mentioned anywhere in the passage. Choice (B), as we suspected, is the correct answer. The paragraph
states that light and heat from a star are the result of the burning of its gases. Gases are therefore the ‘fuel’
of the star which generate light and heat.

6. According to paragraph (4), what causes a star to die?
A. lts fuel is depleted. B. It collides with other stars.

C. It explodes outward. D. It ages too much.

Answer 6: According to paragraph (4), when a stars gases are gone, it stops burning and dies. Choice (A)
is therefore the correct answer. It does not become a black hole because of colliding with other stars (B)
or because of exploding (C). It dies simply because there is no fuel left. There is no particular age for it to
become too old as in choice (D).

7. The word marble in paragraph (5) is closest in meaning to:
A. asmall vehicle. B. atinyinsect.

C. asmall building. D. a polished rock.

Answer 7: This question asks us to show that we understand what a marble is. If we are uncertain, we may
move in the direction of thinking that size (tiny, small) has to be part of defining what it is. If we think like
that, we may well go for (A), (B), or (C). However a marble is not a vehicle, an insect or a building. From
paragraph () we get the strongest clue for the meaning of marble when it is said that ‘The star squashes into
a smaller and smaller ball’. A ball is not a vehicle, an insect, or a small building. By process of elimination,

the correct answer is (D).
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8. Why are black holes invisible according to paragraph (5)?

A. They do no allow light to escape.
B. They are very tightly packed.

C. They are too full of gravity.

D. They are extremely powerful.

Answer 8: According to paragraph (5), black holes are very tightly packed, as in choice (B) and therefore
have an extremely forceful gravity. It is not correct to say that they are ‘full’ of gravity as in choice (C).
Choice (D) is to an extent true; black holes are very powerful. Perhaps better to say the force of gravity
is very powerful. In fact, so powerful that everything, including light, is sucked in. Thus choice (A) is the
correct answer. Light cannot escape because of the strong force of gravity and without light, we cannot see
them.

9. What is the best title for this passage?

A. Black Holes: Energy and Age

B. Black Holes: Gravity and Size

C. Black Holes: Reality and Mystery
D. Black Holes: Stars and Telescopes

Answer g: By the process of elimination, the best title is choice (C). Part of each of the choices seems at first
to be tempting for a title: energy, gravity, telescopes are all talked about in the paragraph. But the reality
and mystery of black holes best fits the overall tone of the passage.

Part 2: Structure

This component makes up 30% of the STEP test. It calls on the test-taker to choose the correct response on
the grounds of correct grammar. Anincorrect choice may seem possible, but will result in a construction or
meaning that is not appropriate. The grammar points under consideration may be:
* verbtense (including irregular verb forms, the conditional, passive/active voice, reported speech, and
modals).
* subject/verb agreement.
* correct use of adjectives, adverbs, definite/indefinite articles, prepositions, clauses/phrases, gerunds/
infinitives, count and non-count nouns.
In other words, the test-taker may be asked to decide a response according to a wide range of grammar
points.

O
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Clues that may help you decide which word or words to choose may be:

+ Grammatical relationships consistent with the grammar found in the sentence.

+ Logical relationships may provide a clue to help determine the correct answer.

« Ifaquestion has two blanks, make certain that the answer you choose fits both blanks. Sometimes
the answer for one of the blanks may be correct, but the answer offered for the other blank is not.

* Logic also must be considered for the word or words that complete a sentence with two blanks.

« Some questions may seem to have two answers that are both correct. Give careful consideration
in such cases to shades of meaning that indicate which one is the best choice and therefore the
correct answer

Structure Examples:

Look at the following examples:

1. Kamalis one of his four brothers.
A. tallest B. taller
C. the tallest D. the taller

Answer 1: The superlative, choice (C), is the only possibility for this blank. Choice (A) does not have the
necessary article. Choices (B) and (D) are both wrong.

2. Khalid: Would you like coffee or tea?
Yusuf:

A. No, with a little sugar B. Yes, tea please

C. Just a little, thank you D. No, I'll have coffee.

Answer 2: This is a short dialogue in which Khalid offers Yusuf something to drink -- coffee or tea. He expects
Yusuf to choose between the two or say that he doesn’t want either one. Choice (B) is the only correct
possibility — Yusuf accepts the offer of something to drink and chooses only one of the two drinks offered.
Cheices (A) and (C) aren’t logical.
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3 three Khalids in my English class last year.
A. There had been B. There have been
C. There were D. There was

Answer 3: This sentence uses the there is/there are format: the éubject of the sentence is actually ‘three
Khalids'. Since the subject is plural, the verb must also be plural. The words ‘last year’ at the end of the
sentence mean that we must use the simple past to indicate a situation that is over and done with. Only
choice (C) can be correct. Choice (A) is not correct since *had been’ s used in a situation where two events
happen in the past, one before the other. Choice (B) is wrong because it uses the present perfect, indicating

an activity that may yet be repeated. Choice (D) is wrong because there is no subject/verb agreement.

4. Miriam bought an antique necklace.
A. for her sister B. to hersister’s

C. hersister D. hersister’s

Answer 4: The correct choice is (C). Both (B) and (D) are clearly wrong. If the indefinite article ‘an’ were not
present in the sentence [an antique necklace], choice (D) would be possible grammatically. Choice (A) is
wrong because of word order: it would be correct if placed at the end of the sentence.

B always crowded at the mall on the weekend.
A. He's ‘ B. They're
€. 1S D. We're

Answer 5: Only choice (C) is correct. The impersonal 'it’ is necessary.

Standardized Test of English Proficiency
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Part 3: Compositional Analysis

These questions make up 10% of the Standardized Test of English Proficiency (STEP). They require the test-
taker to choose the best written form within the context presented in that question. The best response may
depend upon capitalization, punctuation, the use of correct word order at the sentence level, the correct
placement of information depending on the organization of a paragraph or, as you will see in the examples
below, questions that ask the test-taker to identify a structure or wording that is INCORRECT.

The use of signal words like but, and, or, however, since, because, until, as a result, on the other hand, never,
usually, sometimes and always give valuable clues that can lead to the best logical choice for the particular
contextofanitem. Suchwords establish either contrastinginformation orsimilarinformation ormay indicate
a sequential relationship dependent on time order or cause-and-effect relationship. Determining the kind
of relationship will enable the test-taker to know which of the choices offered best fits that relationship.

Look at these examples:

1. Which of the following sentences has the correct word order?

A. Actually the Japanese nor the Chinese neither, unless they have lived in the West for a while,
care for cheese sandwiches.

B. Unless in the West they have lived for a while, neither the Japanese nor the Chinese care
actually for cheese sandwiches.

C. Neither the Chinese care for cheese sandwiches actually nor the Japanese unless they have
lived in the West for a while.

D. Neither the Chinese nor the Japanese actually care for cheese sandwiches unless they have

lived in the West for a while.

Answer 1: The best choice is (D). All other choices offer a word order that is foreign to English usage. The

entire focus of this question is on word order.
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2. Inwhich of the following sentences is all punctuation correct?

A. After he took the exam, he checked his notes to see if he had answered the hardest questions
correctly. He's pretty confident that he did well, although he's uncertain about the geography
questions on Africa.

B. After, he took the exam he checked his notes to see if he had answered the hardest questions
correctly: he's pretty confident that he did well although he's uncertain about the geography
questions on Africa.

C. After he took the exam he checked his notes, to see if he had answered the hardest questions
correctly; he's pretty confident that he did well, although he's uncertain about the geography
questions on Africa.

D. After he took the exam, he checked his notes to see if he had answered the hardest questions
correctly. He's pretty confident that he did well although, he's uncertain about the geography
questions on Africa.

Answer 2: Unlike the question before, the entire focus here is on punctuation. The correct choice is (A).
The following two items require the test-taker to choose the underlined word or phrase that is INCORRECT.
There is no need to make the correction. With such questions, you need to recognize the ONE choice that
is NOT grammatical. When items like this appear in the actual test, the test-taker will see the following
instruction box:

Instructions
Identify the incorrect underlined word or words and mark your response on your an-
swer sheet.

3. Several students were confused about the new assignment until they meet with the teacher after
class. Now they seem to understand.

A. Several B. were confused

C. meet D. seem

Answer 3: The best approach for finding the incorrect word or words in questions like this is to read the
sentence to the end and take note of each of the underlined choices as they appear. In following this
procedure, you will discover that choice (C) is the one that is incorrect. The problem is tense: meet should be
in the simple past to be consistent with the verb were. Choices (A), (B), and (D) are all grammatically correct.
Make sure you read the last choice. It is always important to look at all the choices to be certain that you
have found the ONE that is incorrect.

g
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' 4. Theteacher instructed the students to be at time for class tomorrow or else stay late.
A. instructed B. to be
C. attime D. stay
Answer 4: Using the same strategy as the previous question, we see that choice (C) is incorrect. The correct

idiomatic expression is on time. In case of uncertainty, the only possible question might be whether or not
choice (D) should use the full infinitive form. However, it is a parallel construction with to be in which case

the word to can be dropped.

5. Which of the choices below will allow the following 2 sentences to be combined into 1 sentence only?
He withdrew from mathematics and switched to medicine.
His focus changed.
A.so that B. because
C. then D. after that
Answer 5: Only choice (B) is correct. It shows a cause/effect relationship: the second sentence is the cause

and the first sentence is the effect. Choice (A) would turn the cause/effect relationship upside down. Both
choices (C) and (D) indicate a time relationship which is not workable in combining these two sentences.

6. Muhammad: Have you seen my flash disk? | think | left it here yesterday.

Jarallah: Is that the one last week?
A. who you bought B. which you bought
C. that you bought it D. which you bought it

Answer 6: The correct choice is (B) because it uses the relative pronoun which without the incorrect use of the
pronoun jt. Choice (C) would also be correct if the pronoun it were not included since thatis interchangeable -

with which for objects.
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Part 4: Listening Comprehension

In the Listening Comprehension section, you will hear dialogues followed by questions that relate to the
dialogues. Some dialogues are shorter than others. Here you see that the first dialogue is short and has
only 2 questions whereas the second dialogue is considerably longer and has g questions. The questions
that relate to each dialogue follow immediately after you have heard that dialogue. Each dialogue will
be referred to on your answer sheet as a recording number. Thus the (2) questions that refer to the first
dialogue will appear under Recording Number 1 and the (9) questions that refer to the second dialogue will
appear on the answer sheet under Recording Number 2.

You may want to make notes as you listen to the dialogues to help you remember a point of information or
some detail, but don't take so many notes that you lose your focus in the actual task of listening. Your notes
are foryour own understanding, so there is no need to try to write in complete sentences or to pay attention
to grammar, spelling or neatness.

IMPORTANT:
You will hear each dialogue one time only.
You will hear each question one time only.
Mark your responses as you go; don’t leave anything unmarked.

When you are taking the actual STEP test, you will NOT see the printed dialogue OR the questions.

You will only see the possible answers: A, B, C, D.

After each question, some time is given for you to make your response. You cannot review or return to the
questions of a previous dialogue, so respond to all the questions relating to a dialogue in the time allowed.
Do not leave questions unanswered before moving on; unanswered questions will be marked as wrong.

You can listen to the dialogues and questions in this section on the CD with this book or by going to

the recording available on the Qiyas website ( WWW.qiyas.org ).
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FIRST DIALOGUE

Recording Number 1

Yusuf: Wow, Sultan, you look wasted! Are you sick or something?

Sultan: No. I'm OK, just tired is all. I've been burning the midnight oil for a week now to get myself ready

for finals.

1. What does Yusuf mean when he tells Sultan that he ‘looks wasted"?
A.That Sultan isn‘t using his time well.
B. That Sultan isnt using his money well.
C.The speaker is surprised at Sultan’s appearance.
1 D. The speaker wants to give Sultan some medical advice.
~ Answer 1: Even if we don't really understand what Yusuf means, we can easily guess by the question he asks
immediately afterwards: Are you sick or something? With this very strong clue, we know that Yusuf doesn‘t

- meananything about time or money as in (A) and (B). Neither doesYusuf want to give Sultan some medical
~ advice asin (D). The correct answer is (C), he is surprised at how Sultan looks..

5. What does Sultan mean when he says, I've been burning the midnight oil?
A. He has been sleeping a lot.
1 B. He doesn't have electricity in his room.
C. Heis low on oil and needs a lot more.

D. He has been studying all night long.

Answer 2: Yusuf uses this phrase to explain to Sultan why he looks the way he does. As he says, he has been
- studying for his final exams, so (A) is not correct. Both (B) and (C) have nothing to do with the meaning of

*burning the midnight oil. It is an idiomatic expression that Yusuf uses to explain that he has been studying
- allnight. He looks bad because he hasn’t had any sleep: (D) is the correct choice.
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SECOND DIALOGUE

Recording Number 2

Agent: When was the last time we serviced your car?

Carowner:  Well, I'm not sure of the date, but | think it was for the 30,000 kilometer check-up.

Agent: Your car is the Sonata model, right?

Carowner:  No, it's an Accent.

Agent: Wow, you're kind of tall for an Accent! Any special problems or is this a regular check-up?

Carowner:  Well, | want the 40,000 kilometer check-up, but it's been heating up. In fact, I think it was
last Monday that the heat gauge got all the way up into the red zone.

Agent: Do you check the fluids periodically?

Car owner: No, but | did after it cooled down. Had to add about a liter of water.

Agent: Hmmmmm. Let's look atit. ..... I see you've had some accidents

Carowner:  Just some fender-benders. I'm not worried about any body work, but | would like to have
the seat belt on the driver's side fixed. It doesn‘t re-wind itself anymore. (pause...) On
second thought, just leave the seat belt as it is. | want to keep the bill low.

Agent: We can replace it if you change your mind. Let’s go back inside...(pause)... Please have a
seat. (...sound of papershuffling...) Here’s a list of everything we check at 40,000 kilometers.
If there is anything else you want checked, let me know.

Carowner:  (..pause...) No, this seems fine. Will you call me when the car is ready?

Agent: Sure we will.

Carowner: | have a different phone number now because | changed jobs.

Agent: What's your new contact number — your mobile would be best.

Carowner:  0563334972. Can you tell me when it will be ready?

Agent: It depends. By the way, do you want us to call you if we see that the charge will be more
than SR 2000.

Carowner:  Oh gosh...yes, please. Do you think it'll be ready by Thursday?

Agent: It should be. If you call to check on things, any agent can tell you if it's ready. Just be sure
to give whoever answers the work order number.

Carowner:  Great. Thanks a lot.
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It is probably wise to make some notes for a longer dialogue like this one. Since you will see only the answer

choices in your test booklet, you will not be certain which dialogues are the longer ones. However, a clue
~ that you can use is to notice how many questions are related to each dialogue. In any case, there is no harm

in making a note of information from even a very very short dialogue. The only harm in your note-taking can
- come from focusing on writing so much information that you miss some parts of the dialogue. Remember
to keep your sharpest and most important focus on the dialogue itself.

3. When was the car owner at the Service Center the last time?

A. For the 13,000-kilometer check-up.

B. For the 30,000-kilometer check-up.
C. For the 14,000-kilometer check-up.

D. For the 40,000-kilometer check-up.

swer 3: This kind of information about numbers is good to make note of while listening. It may not
e something you need to remember, but then again it might be. When listening, the problem here is
distinguishing between 13/30 or 14/40. The correct answer is (B). He was at the service center the last time
fior the 30,000 kilo check-up.

%. Why is the agent surprised when he sees that the customer has an Accent and not a Sonata?

Because the customer is:

A. kind of small. B. kind of tall.

C. kind of bulky. D. kind of thin.

“nswer 4: The agent assumes that the customer has the bigger model of Hyundai, a Sonata, because he
sees that the customer is a big guy. We hear him say in the dialogue that he (the customer) is kind of tall

or 2n Accent, one of the smallest compact cars that Hyundai makes. The agent does not mean that the
sustomer is small, as in choice (A), but rather that he is tall to be driving an Accent. The correct answer is

therefore (B).

'5. What kind of problem has the car owner had recently?

A. The car got very hot. B. The seat belt is dented.

C. The caris too small. D. The heat gauge is broken.

\nswer 5: The correct response here is (A). Seeing the word ‘heat’ in (D) may make it a tempting choice,
sut there is no problem with the heat gauge. The customer later mentions a problem with the seat belt, but

then tells the agent to leave it. Regarding (C), the agent may think the car is too small for the tall customer,
sut apparently the customer doesn’t. Thus we are left only with (A) which we already have seen to be the

ect response.
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6. How often does the car owner check the fluids?
He checké the fluids:
A. often, maybe daily. B. maybe periodically.
C. seldom or never. D. only when it gets hot.
Answer 6: In response to the agent’s question about how often he checks the car fluids and in particular the

water in the radiator, the customer indicates that he does not usually check the fluids at all, but he did on
the day that the car overheated. Thus the only correct response for this question is (D).

7. Why do you think the car owner decided NOT to have the seat belt fixed?

Because it:
A. will cost too much. B. will be too old.
C. wasn't out of order. D. was broken again.

Answer 7: Finding the correct answer involves understanding the customer’s statement that he wants “to
keep the bill low”. There is no information in the dialogue to make us think that the seat belt is too old as
in answer (B). Choice (C) can't be the correct response because the owner indicates that it doesn’t re-wind
itself: it is out of order. Choice (D) doesn’t make any sense with the information given in the dialogue. That
leaves us with choice (A).

8. Why does the car owner have a different phone number now?

Because he:
A. changed his record. B. has a different car.
C. has a different job. D. changed his house.

Answer 8: The car owner mentions that he has a different phone number now, so he wants to make sure
that the agent can call him at the right number. In other words, he wants the agent to change the phone
number in the record. Thus, choice (A) cannot be correct. The record needs to be changed; it hasn't been
done yet as (A) would imply. Nor does the car owner say anything at all about having a different car, so
choice (B) is not correct. He does explicitly say in the dialogue that he has a different phone number now
because he has a different job, so choice (C) is the correct response. What about choice (D)? If he has a
different job, then he might well live in a different house or apartment. But nothing is said about that. We
don’t know from the information we hear in the dialogue.
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9. When will the car be ready for the customer?
A. Probébly by Thursday. B. If possible, before Thursday.
C. When he pays the bill. D. When he phones them.
Answer g: Only choice (A) is correct. The agent responds ‘it should be’ to the customer’s question as to

whether the car will be ready by Thursday. Of course, he will have to pay the bill - but the car will probably
be ready by Thursday.

10. Why would the Service Center call the customer before the car is ready?
If the repair will cost:
A. around SR 2,000. B. less than SR 2,000.

C. more than SR 2,000. D. exactly SR 2,000.

. Answer 10: The agent asks the customer if the Service Center should phone him to authorize the repair
- work if it costs more than SR 2,000, so only choice (C) is correct. We can assume that the repair work will

proceed without the Service Center calling the customer if the bill is not going to be higher than SR 2,000.

11. If the car owner calls to check on his car, what information should he give?
A. His mobile number. B. The work order number.
C. The agent’s number. D. His new employer.

Answer 11: The agent tells the customer that if he, the customer, phones to check on his car, he should give
the work order number, so choice (B) is correct. Nothing is said in the dialogue that would make choices (A)

~ or (D) correct. There is no need to ask for the agent’s number as in choice (C). In fact, the agent may not
~ even have a number. If he does, we hear nothing about it in the dialogue.
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Trial Answer Sheet for Listening Questions

Instructions

Listen carefully to the recording and then answer the questions. For each question, choose the best answer

and mark it on your answer sheet.

Recording Number 1

A. That Sultan isn’t using his time well.
B. That Sultan isn't using his money well.
C. The speaker is surprised at Sultan’s appearance.

D . The speaker wants to give Sultan some medical advice.

2)

A. He has been sleeping a lot.
B. He doesn't have electricity in his room.
C. Heislow on oil and needs a lot more.

D. He has been studying all night long.
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Recording Number 2

3)

A. Forthe 13,000 kilometer check-up.

C. For the 14,000 kilometer check-up.

4)

Because the customer is:
A. kind of small.
C. kind of bulky.

5)
A. The car got very hot.
C. The caris too small.

6)

He checks the fluids:
A. often, maybe daily.
C. seldom or never.

7)

Because it:
A. will cost too much.

C. wasn't out of order.

8)
Because he:

A. changed his record.

C. has a different job.

B. For the 30,000 kilometer check-up.

w

. For the 40,000 kilometer check-up.

. kind of tall.
. kind of thin.

. The seat belt is dented.
. The heat gauge is broken.

. maybe periodically.
. only when it gets hot.

. will be too old.

. was broken again.

B. has a different car.

. changed his house.
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9)
A. Probably by Thursday.

B. If possible, before Thursday.
C. When he pays the bill.
D. When he phones them.

10)
If the repair will cost:
A. around SR 2,000.
B. less than SR 2,000.
C. more than SR 2,000.
D

. exactly SR 2,000.

1)
. His mobile number.
. The work order number.

. The agent’s number.

o nNn w >

. His new employer.

Stop!
End of Section.

)2
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KEY to correct answers

1-C 7-A
2-D 8-C
3-B 9-A
4—B 10-C
5—A 11-B
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&9 Part IT: A Brief Review of English Structure

As an aid and guide in your preparation for taking the Standardized Test of English Proficiency (STEP), we
offer the following material. Obviously, this cannot be other than a cursory overview focused on structure.
However, this guide can help you identify your areas of weakness and allow you to better prepare for the
STEP exam.

As you already know, it is possible to master the rules for proper grammatical use and even the bulk of
the exceptions and still not be at ease in the actual use of the language. However, we feel that this kind of
overview can trigger and freshen the knowledge and ability you have acquired in the use of English.

The format for this brief review will branch out from the eight basic categories for words: verbs, nouns,
adjectives, adverbs, pronouns, prepositions, conjunctions, and interjections. This will afford a very brief
summary, hopefully touching on areas that will stimulate your acquired ability for the use of English and
lead you to your own resources (books, webpages, etc.) for a more in depth investigation.

Words are the building blocks that enable us to express ourselves, whether in English or Arabic. Atthe same
time, learning a language is more than memorizing lists of vocabulary words. The basics of how to combine
words with one another provide the possibility of communication. Thus, the categories for words (or parts
of speech) and how to combine them are key to the development of fluency.

And what is fluency? At heart, it simply means the ability to communicate a thought, an idea, a plan, an
intention, or a desire in a way that is understood by others. The structure is important, but the correct
structure is secondary to successful communication.

Often native speakers break some of the most elementary structure rules of language. In fact, they may
not even be aware of the rules. However, for the one who is learning a second or third language, the goal,
ideally, is to utilize the correct structures in the process of communicating. Later, once this has been
mastered, going outside or beyond structure may be a prerogative called upon unconsciously to further
enhance communication. Forthe moment, however, our concern is for proper usage, correct structure, and
mastery of the rules.

The traditional categories for words (or parts of speech) are eight in number. Some of these categories are
subdivided into other categories. In this overview, we will touch on some of those possibilities within the
traditional classification, but maintain the eight classifications as follows:

©
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1. Verbs such as: be, have, do, work, go, study, travel, eat, play, can, swim, understand.
2. Nounssuch as: man, city, language, country, door, house, school, mouse, computer, love, fear,
determination, faith.

3. Adjectives such as: seven, big, new, black, expensive, ancient, tired. (The definite article the and
: the indefinite article a take the adjectival position.)

Adverbs such as: loudly, well, often, clearly, quietly, exactly, very.
Pronouns such as: you, ours, some, my, her, himself, they.
Prepositions such as: at, in, on, from, under, with, beyond, as, during.

Conjunctions such as: and, but, although, since, thus, in order to, as long as.

gol sl s

Interjections such as: ah, dear, er, um, well, ouch, oh, wow, huh.

At the end of this review you will find a listing of some websites that you may find helpful. From the websites
iven you may also find many other helpful sites.

dnce you have completed your review, you may proceed and take the practice tests provided in this book.
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1. Verbs

Verbs are words that express action (Khalid and Muhammad play football.) or relate a state of being (Khalid
and Muhammad are happy.). Verbs have various forms to express different tenses. Roughly speaking, tense
can be thought of as time: past, present or future along with variations within those three dimensions.
However, it is important to keep in mind that the idea of time as expressed in grammar does not always
correlate with clock time.

Simple Present Tense

HABITUAL ACTION

The present tense in its simple form is used to express an action that is habitual. For example: Khalid and
Muhammad play football on weekends. Although this is called the simple present tense, it may not be
something that Khalid and Muhammad are doing right now, the immediate present. It is something they
are in the habit of doing at the time specified — on weekends. They may be in class now and therefore not
playing football at this very moment -- or it may be the weekend, but itis late at night and they are sleeping.

OBJECTIVE FACT

The present tense is also used to express objective facts. For example: The sun rises in the east. It is always
true. This is simply how the sun operates and it is a scientific fact. The simple present used in this way means
that something was true in the past, is true in the present, and will be true in the future.

THIRD PERSON —s

One of the difficulties in using this tense is that in only one instance the verb adds an —s at the end. This is
very simple, but that in fact makes it much easier to forget. This happens only in the 3rd person singular (he,
she, it), not in the 3rd person plural (they).

Simple Past Tense

COMPLETED ACTION
The simple past is used when an action has stopped; it is something that happened before now and it is
finished. It happened at a particular time; it began and ended in the past.

Averb in the simple past ends in -ed. That is the situation for most verbs in English. They are called regular
verbs. Muhammad and Khalid played football last Thursday. Often there are additional words that indicate
that the action or state of being referred to is over and done with. In the sentence above, the words last
Thursday indicate that this is a time in the past. Other examples of words that indicate past tense are:
yesterday, (two days) ago, etc.
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There are some verbs that do not follow this rule. They have different forms in the simple past that must
simply be memorized. Since they do not follow the regular rule for forming the simple past, they are called
irregular verbs. Although there are quite a few irregular verbs, about 150 or so are in common use and easy
to master simply by memorization and repeated usage. For example, write is an irregular verb that does not
add an —ed to form the simple past tense form. Instead there are usually internal changes of the vowel and
sometimes some other letters also: write / wrote, teach / taught, fall/ fell, stand / stood. In the case of bite
/ bit the only change is removing the silent —e for the simple past tense form. A few irregular verbs don't
change at all: put/ put, hit / hit and quit / quit, for example.

Future Tense

. The words used to refer to future time in English are not strictly speaking a future tense. The construction
that is commonly referred to as the future tense is the simple form of the main verb preceded by the word
~ will. The form of the word will never changes for person or number; it remains the same for all persons,

both singular and plural.

Making statements:

Simple Present Simple Past (Simple Future)***
’ | ate a sandwich. | will study tomorrow.
I like coffee. ; :
He ate a sandwich. . She will study tomorrow.

She likes coffee.

= Khalid ate a sandwich. ' Khalid will study tomorrow.

Khalid likes coffee. : ]
) Sarah ate a sandwich. Sarah will study tomorrow.

Sarah likes coffee. ‘ .

y You ate a sandwich.  You will study tomorrow.
You like coffee. : i

: They ate a sandwich. They will study tomorrow.

They like coffee. , : d

_ ! Khalid and Sarah ate a Khalid and Sarah will study
Khalid and Sarah like coffee. )

sandwich. tomorrow.

#% The simple future can also be expressed with be going to. There is no change in the form of going to,
but be must agree with the subject (singular or plural) and the person (1st person, 2nd person, 3rd person).

| am going to study tomorrow. She is going to study tomorrow.
Khalid is going to study tomorrow.

Sarah is going to study tomorrow.

They are going to study tomorrow.

Khalid and Sarah are going to study tomorrow.




¥
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To form a question with all verbs in the simple present and simple past tenses (except BE and the MODALS),
aform of the verb DO becomes necessary. DO is also used in short responses to yes/no questions and in the
formation of negative statements.

Simple Present (do/does for 3rd person singular only)

Khalid plays football every evening.
Does Khalid play football every evening? (simple form for main verb)
Yes, he does. He plays football every evening.

No he doesn't.

He doesn’t play football every evening.  (simple form for main verb)

Simple Past (did for all persons)

Khalid played football yesterday.
Did Khalid play football yesterday?
Yes, he did. He played football yesterday.

No, he didn't.
He didn‘t play football yesterday.

(simple form for main verb)

(simple form for main verb)

Making questions:

f

Simple Present Simple Past (Simple Future)

| Did| eat a sandwich? Will | study tomorrow? |
Did he eat asandwich?
Did Khalid eat a sandwich?

Did Sarah eat a sandwich?

Do | like coffee?

Does she like coffee?
Does Khalid like coffee?
Does Sarah like coffee?

Will she study tomorrow?
Will Khalid study tomorrow?
Will Sarah study tomorrow?

Do you like coffee?
Do they like coffee?
Do Khalid and Sarah like

Did you eat a sandwich?
Did they eat a sandwich?
Did Khalid and Sarah eat a

Will you study tomorrow?
Will they study tomorrow?
Will Khalid and Sarah study

tomorrow?

coffee? sandwich?

Word order changes in order to make a question. The first word will be the helping verb which always comes
before the subject. In the Simple Present, the helping verb is do. In the Simple Past it is did. In the case
of the (Simple Future), the modal will comes before the subject. If a sentence has be as a main verb, no
helping verb is needed; the be will simply be placed in front of the subject. (Examples: Are they happy? Is
he a student?)

._
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Making negative statements:

Simple Present

Simple Past

(Simple Future)

| do not*** like coffee.

She does not** like coffee.
Khalid does not** like coffee.
Sarah does not** like coffee.
You do not *** like coffee

They do not*** like coffee.
Khalid and Sarah do not*** like

. coffee.

| did not** eat a sandwich.
He did not eat a sandwich.

Khalid did not eat a sandwich.
Sarah did not eat a sandwich.

You did not eat a sandwich.
They did not eat a sandwich.
Khalid and Sarah did not eat

a sandwich.

| will not** study tomorrow.
She will not study tomorrow.
Khalid will not study

tomorrow.

Sarah will not study tomorrow.
You will not study tomorrow.

They will not study tomorrow.
Khalid and Sarah will not study

tomorrow.

- *x*x*do not = don’t
**does not =doesn’t

**did not = didn't

**will not = won't

1 the chart above, note that there is no change in the main verb in the Simple Present and the (Simple
uture). However, in the Simple Past the main verbis in its simple form —which looks exactly like its simple
Sresent tense form without the third person singular -s ending. The verb did, the simple past form of do,
shows the past tense in negation. Negation is indicated by placing not immediately after the helping verb

!

! Example: | do not like coffee. | don’t like coffee.

—nd in front of the main verb. The not can be joined with the helping verb to make contractions.
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HELPING VERBS

All tenses other than the simple present tense, simple past tense and the so-called future tense must have
verbs to assist or help the main verb. As already seen, the main verb in the so-called simple future needs

some help from the verb will.*** These verbs are usually called helping verbs. They are: be, have, and do.
***Will is also called a modal. This will be discussed later.

BE as the main (only) verb in a sentence.

Look at the following charts to see how the verb BE is used when it is the main verb:

Making statements:

1
i
i

f Simple Present Simple Past (Simple Future)
I am happy now. | was happy yesterday. I will be happy tomorrow.
; She is happy now. He was happy yesterday. She will be happy tomorrow.

E Khalid is happy now.
Sarah is happy now.
You are happy now.
g They are happy now.

| Khalid and Sarah are happy now.

|

Khalid was happy yesterday.
Sarah was happy yesterday.
You were happy yesterday.
They were happy yesterday.
Khalid and Sarah were happy
yesterday.

Khalid will be happy tomorrow.
Sarah will be happy tomorrow.
You will be happy tomorrow.
They will be happy tomorrow.

| Khalid and Sarah will be happy
;’tomorrow.

Making questions:

Simple Present

Simple Past

(Simple Future)

Am | happy now?

Is she happy now?

Is Khalid happy now?

Is Sarah happy now?

' Are you happy now?

| Are they happy now?

Are Khalid and Sarah happy
now?

Was | happy yesterday?

Was he happy yesterday?
Was Khalid happy yesterday?
Was Sarah happy yesterday?
Were you happy yesterday?
Were they happy yesterday?
Were Khalid and Sarah happy
yesterday?

Will | be happy tomorrow?

Will she be happy tomorrow?
Will Khalid be happy tomorrow?
Will Sarah be happy tomorrow?
Will you be happy tomorrow?
Will they be happy tomorrow?
Will Khalid and Sarah be happy
tomorrow?

o
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. **%*in -Wh questions, the -Wh word comes first, then BE, then the subject:

Where are you now? Where were you yesterday? Where will you be tomorrow?

What is his name? Who wrote that book? When is she coming?

Making negative statements:

2| Simple Present Negation Simple Past Negation (Simple Future) Negation

- lam not*** happy now. | was not* happy yesterday. | will not* be happy tomorrow.

~ Sheis not** happynow. | Hewas not* happy yesterday. She will not* be happy tomorrow.

~ Khalid is not** happy now. | Khalid was not* happy yesterday. | Khalid will not* be happy tomorrow.
~ Sarah is not** happy now. | Sarah was not* happy yesterday. | Sarah will not* be happy tomorrow.
~ You are not* happy now. | You were not** happy yesterday. | You will not* be happy tomorrow.

~ They are not* happy now. | They were not** happy yesterday. | They will not* be happy tomorrow.
Khalid and Sarah are not* | Khalid and Sarah were not** Khalid and Sarah will not* be happy
- happy now. happy yesterday. tomorrow.

~ *%* am not is never contracted * was not = wasn't * will not = won't

- ** jsnot=isn't *% were not = weren't
* are not = aren’t

‘The verb BE is also a helping verb in the continuous tenses. Remember:

- BE always agrees with the subject in tense and number (is, am, are; was, were ) whether it is the main
verb or a helping verb in the present, past, and future continuous tenses.

« Inayes/no question, BE always comes first followed by the subject — both as the main verb and as a

helping verb in the present and past continuous tenses.
= Ina-Wh question, the “Wh word is first, then BE, then the subject — both as the main verb and as a
i . helping verb in the present and past continuous tenses.

~« In a negative statement, the word not comes immediately after BE — both as the main verb and as a
I ! helping verb in the present, past, and future continuous tenses.
= Inanegative statement, BE and not are often written and spoken as contractions, whether BE is the
5 main verb or a helping verb in the present, past, and future continuous tenses.
~+ Inthe present, past and future continuous tenses, BE must stand with the —ing form of the verb. (See
the examples in the box on the following page.
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Present Continuous

SOMETHING IS HAPPENING NOW (RIGHT NOW)
Khalid and Muhammad are playing football.

Mustafa is studying.

Past Continuous***

é SOMETHING WAS HAPPENING (AT A PARTICULAR TIME IN THE PAST)
Khalid and Muhammad were playing football Thursday evening.
Mustafa was studying Thursday evening.

Future Continuous

SOMETHING WILL HAPPEN (AT A PARTICULAR TIME IN THE FUTURE)
Khalid and Muhammad will be playing football next Thursday evening.
Mustafa will be studying next Thursday evening.

***The past continuous often indicates or implies a second past action which interrupted the action in
question. The second past action (or interrupting action) is in the simple past tense:

Saleh was eating when the phone rang. (use of when with simple past)

While Saleh was eating, the phone rang. (use of while with past continuous)
In this example, the phone rang (the 2nd or interrupting action, thus in the simple past) during the time that
Saleh was eating.

Interrupting past action vs. Sequential past action

Itisimportant to note that some verbs are not usually used in the continuous tenses. These are verbs
that indicate a quick action not thought of as having duration. In such cases, both verbs may be in the
simple past. He started the car and drove away. Itwould be incorrect to say, He was starting his car
and drove away.

Of course, there can be two actions, both completed in the past, but neither action being an interrupting
action; rather the two (or more) actions may happen in sequence: Saleh ate his dinner, did his

homework, and went to bed.
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Stative verbs express ‘existing state’, not action or activity

There are also some verbs that are not used in any of the continuous tenses. They are often called stative |
verbs and relate to the senses, emotions, or states of being rather than activity or actions. Some of the |
most common are: think, believe, know, want, need, like, hate, fear, hear. However, some of these stative ;
verbs can be used in such a way as to indicate action: think, have, taste, smell, see, feel, for example. If
they indicate action, then of course they can be used in the continuous tenses. Look at a couple examples
here:

| think he is a kind man. (existing state) | am thinking about my father. (activity)
This rose smells good. (existing state) Saleh is smelling the rose.  (activity)

Question Formation

yes/no questions -Wh questions

Continuous

Is Mustafa studying? Where is Mustafa studying? 1

Past Continuous

Were they playing football Why were they playing |
yesterday? football yesterday?

Future Continuous

Will they be playing football Where will they be playing %
tomorrow? football tomorrow?

When BE is used as a helping verb, a statement is made negative in the same way; that is, by adding the
word not after the form of BE which is then followed by the —ing form of the main verb in the continuous
tenses. Look at the examples in the chart:

Negation

Present Continuous

Khalid and Muhammad aren’t (are not) playing volleyball.
Mustafa isn’t (is not) sleeping right now.

Past Continuous

Khalid and Muhammad weren’t (were not) playing volleyball yesterday.

Mustafa wasn’t (was not) sleeping in class yesterday.
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Future Continuous

Khalid and Muhammad won't (will not) be playing football tomorrow.
Mustafa won’t (will not) be sleeping in class tomorrow.

HAVE

The verb have is necessary in the formation of the perfect tenses (along with will for the future perfect).
The perfect tenses are used to place one event or action before another. One action preceded another. The
main verb in the perfect tenses is the third form (past participle) and the helping verb have agrees with the

subject in tense and number.

Present Perfect
SOMETHING HAPPENED:
At an unspecified time before now; the exact time is not important.
| have already eaten.

; Several times before now (repetition); the exact time is not important.
| Sarah has eaten in this restaurant many times.

Began in the past and continues to the present (used with for or since).
They have not eaten in this restaurant for 3 months. (for + a duration of time)
We have not eaten in this restaurant since last year. (since + a particular time)

Past Perfect
TWO EVENTS, BOTH IN THE PAST:
One event in the past completed before a second event in the past.
Khalid had eaten his meal when Muhammad entered the restaurant.

Future Perfect
TWO EVENTS, BOTH IN THE FUTURE:

One event will be completed before another event (or time) in the future.
He will have finished his homework by the time he goes to bed.***
They will have finished their homework by bedtime.

She will have finished her homework by 8:00.

*** Note that the simple present (in the phrase by the time he goes to bed) is used in this sentence to
express an event in the future. As previously mentioned, tense does not always correspond to clock or

calendar time.
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Question Formation

yes/no questions -Wh questions
Present Perfect
Has he eaten his breakfast? Where has he been all day?
Past Perfect

Had he finished his homework Where had be been before he
| before he slept? went to Africa?
% Future Perfect
~ Will she have finished the project How far will he have driven by
by tomorrow? this time next week?

Question formation follows the rule: inverted word order for yes/no questions. That means that the have/
as helping verb will take the first position and the subject the second position followed then by the past
participle form of the main verb in the present perfect and past perfect tenses.

Negation

Present Perfect
The children haven’t eaten their vegetables.
! She hasn't finished her homework.

Past Perfect
Fs Sarah and Miriam hadn‘t completed the test when the teacher collected them.
i ‘ Mustafa hadn’t missed a class until yesterday.

Future Perfect
My mother won’t have had time to prepare the meal, so maybe we can help her.
They won't have left by now, so we can still visit with them.
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Negation likewise follows the same pattern we have seen before: the word not is inserted immediately
after the helping verb — in this case, the correct form of have. As previously seen, the not often forms a

contraction with the helping verb:

have not = haven‘t had not = hadn’t
has not = hasn't will not = won't

Inthe present perfect continuous tense, have / has is used along with been and the main verb with an —ing
ending (the present participle form). In the past perfect progressive tense, the form is the same except that
have is used in its unchanging past tense form, had. The future perfect progressive is formed by will have
been plus the present participle form of the main verb.

Present Perfect Continuous
CONTINUATION OF AN ACTION FROM THE PAST TO THE PRESENT
They have been studying for their exams all week.

DURATION OF AN ACTION FROM THE PAST TO THE PRESENT |
She has been studying in the library since 8:00 this morning.

Past Perfect Continuous
' CONTINUATION OF PAST ACTION IN RELATIONTO A 2M° PAST ACTION |
E Khalid’s hair was wet when he got home because he had been swimming.

DURATION OF PAST ACTION IN RELATIONTO A 2M"° PAST ACTION
She had been waiting for an hour before the doctor arrived. ;

Future Perfect Continuous ‘

DURATION OF FUTURE ACTION IN RELATION TO A 2"° TIME OR ACTION |
They will have been relaxing on the beach for a week by this time next month. |
He will have been teaching for 20 years at the end of this year.

N g
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Question Formation

yes/no questions -Wh questions

Present Perfect Continuous

| Has he been studying for the Why has she been studying in the

exam all week? library since 8:00 this morning?
ry g

Past Perfect Continuous

Had she been waiting for the

Why had he been swimming with
doctor all morning?

his shoes on?

Future Perfect Con-
tinuous
Will she have been waiting for us

How long will he have been
1 all this time?

speaking by the time we arrive?

Question formation follows the same pattern in the perfect continuous tenses: the first position in a yes/
no question will be the helping verb followed by the subject; immediately after the subject will be the past
participle of BE (been) which will always be followed finally by the —ing form of the main verb.:

Present Perfect Continuous: Question

Helping verb (present) + subject + been + -ing form of the main verb.

Past Perfect Continuous: Question

Helping verb (past) + subject + been + -ing form of the main verb.

Future Perfect Continuous: Question

Will + subject + helping verb (present) + been + -ing form of the main verb.

For —-Wh questions the ~-Wh word precedes the patterns given above.
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Negation

[
Present Perfect Continuous |
The children haven't been eating their vegetables this week :
She hasn’t been working on her assignment. "

Past Perfect Continuous |
Sarah and Miriam hadn‘’t been reading the newspapers at all last summer. .
Mustafa hadn’t been attending any of his classes. ﬁ

Future Perfect Continuous \
My mother won't have been sleeping long if I call her right now.
They won't have been enjoying themselves in this freezing winter weather,

Negation follows the pattern of placing the word not after the helping verb. The examples in the box above
use not in its contracted form.
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Modal Verbs

- Modals are unique verbs. The most common modals are:
can, could — will, would — may, might — shall, should - must, ought to.

Their form never changes.

» They do not add the third person singular —s.

*  They have no—ing form.

e They can never be followed directly by another modal.

» Inverb phrases they must be followed by the simple form of other verbs.
-+ They never follow directly after the word to.

‘The following tables show some possible meanings of the most common modals listed above. They can be

sed to express a multitude of meanings that are best acquired by the familiarity gained by usage. Extensive
L =ading, interaction with native English speakers as well as non-native English speakers, listening to English
anguage radio, watching English language television programs and films and using the Internet in English
are all some ways to acquire a comfortable sense of the scope of modal usage — as well as a broader general

fluency in English.

Can and could express ability, possibility, and permission.

She can speak 3 languages. (ability)
Dur team can win the football match. (possiblility)
The teacher said we can go home early today. (permission)

May and might express permission and possibility.

You may come into the office now. (permission)
¥ might be the best example. (possibility)

Shall, should, must, and ought to show advisability, obligation, expectation, and chance.

Shall (Should) we go to Venezuela on our next vacation? (advisability)
Zveryone should be careful crossing streets. (obligation)

he guests ought to be arriving soon. (expectation)
fvou should see Khalid, give him my regards. (chance)
octors must do their best to help their patients. (obligation)
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é W|H and would express agreement, requests, offers, and invitations.

They will be here early in the morning. (agreement)
Would you please pass the salt? (request)
Would you like to come for dinner tomorrow? (invitation / offer)

QUESTION FORMATION WITH MODAL VERBS

——

!

Will he bring his notes for us to study? (yes-no question)
Modal + subject + simple verb

When will he bring his notes for us to study? (-Wh question)
-Wh word + modal + subject + simple verb

NEGATION WITH MODAL VERBS

Negation with modal verbs = adding the word not after the modal.

He can't* come today.
They shouldn’t* smoke so much.
She might not understand what he said.
Khalid and Muhammad wouldn’t* let me play football with them.

*The word not usually joins the modal that precedes it to form a contraction, with some exceptions:

| cannot = can’t might not = usually not contracted
could not = couldn’t ought not = usually not contracted
will not = won’t have to = doesn’t have to / don’t have to
would not = wouldn’t shall not = never contracted
should not = shouldn’t may not = never contracted
| must not = mustn't (very rare) had better = never contracted
shall is seldom if ever used in American English
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l Verb forms with IF: Conditional Sentences

Conditional sentences consist of 2 clauses: the conditional clause, often called the if clause, and the result
clause. Basically, there are 3 different conditionals as shown in the following box:

Meaning of the Verb form in the Verb form in the
“IF CLAUSE" *E CLAUSE" "RESULT CLAUSE"
: ‘ True in the e LT simple present
i present/future e simple future

Untrue in the _ _ m)
! 2 simple past would + simple infinitive
present / future

3 Untrueinthe past past perfect would have + past participle

**% Chart and following information adapted from Understanding and Using English Grammar by Azar.

~ Examples:

- Form1: If | don't eat a snack at night, I'm not able to sleep well.
| If oil is mixed with water, it floats.
" If | finish my project next week, | will take a small vacation.

Form 2: If my parents were here right now, there would be no problem.
If I were a teacher, | would give a lot of homework. ***

Form3: IfI had seen the problem beforehand, | would have done something about it.
If he had been our teacher, we would have had a lot of homework.

#%% Were is used for all persons in the simple past in the conditional. Was is sometimes used by native

speakers with |, he, she, it. However, it is considered to be very very informal if acceptable at all.




Wrart11: A Brief Review of English Structure

Verb forms following WISH

Wish indicates that the speaker wants reality to be different. Verb forms are similar to the forms used in the
conditional. WISH is followed by a noun clause. The word that can be used or left out.

A wish about the present:

| don’t know French. I wish (that) | knew French.
He can’t understand me. I wish (that) he could understand me.
Itis very cold right now. I'wish (that) it weren’t cold right now.
A wish about the past:
Samir didn’t come. | wish (that) Samir had come.
They sold the last one. I wish (that) they hadn‘t sold the last one.

A wish about the future:

Khalid can‘t come tomorrow. | wish (that) Khalid could come tomorrow.
He isn't going to be there. | wish (that) he were going to be there.

Using WOULD to make wishes about the future. The speaker wants something to happen in the future.
The wish may or may not come true.
Examples:

Samir is supposed to call me. | wish the phone would ring. (I want the phone to ring.)

There is a sandstorm. | wish it would stop. (I want the sandstorm to stop.)

Using ...WISHYOU WOULD to make a request.

Examples:

We are going shopping tonight. We wish you would come with us.
They don’t understand the homework. They wish you would explain it to them.
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; 2. NOUNS

Nouns are words that name things: car, window, person, school, teacher. All of the examples mentioned
are concrete objects that can be pointed to, touched, seen, felt. However, many nouns do not refer to
concrete objects. For example, a person cannot touch or point to or taste something like love, hate, joy,
- war, peace, expansion, memory.

Sometimes a word is a noun in one sentence, but in another sentence a verb. For example: My sons love
football. (verb) They also have a strong love for basketball. (noun) In the first sentence, love isa verb. Inthe
‘:second sentence, love is a noun.

Nevertheless, in spite of the complications mentioned, we can define a noun as a word that names a person,
place, or thing — as long as we keep in mind that nouns give names to objective material realities as well as
subjective non-material (abstract) realities.

Nouns are not subject to as many changes in form as verbs. Nouns can be singular or plural if they are count
nouns. Some nouns are non-count and have only one form, never taking the ending that marks a plural
noun.

Singular / Plural = Count Nouns

LCount nouns are for things that can be counted. | can have one or | can have ten of whatever it is. For
example, car, house, pen, horse, school, teacher, student, coin, table.

& singular count noun cannot appear alone in a sentence. It always has at least one other word like afthe/
my/this in front of it.

| am_a student.

That table is beautiful.

My teacher has good experience.
He saw the horse run away.

Dther words may also appear in front of a noun:

That large wooden table is beautiful. (A noun and the words that modify or explain something about
the noun are called noun phrases.)

2
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When a count noun is in the plural, it can stand alone in a sentence or it may have other words in front of it:

Houses in the Gulf are often made of stone.
Those large expensive houses were built last year.

The plural noun is formed by adding —s or —es at the end of the word.

student students
car cars
table tables
watch watches
class classes

General quantities of a count noun can be indicated by the use of: many, a few, a lot of*, and some*:
The market has a lot of apples, but only a few bananas.
Many questions on the final exam were difficult.
Some watches are very expensive.

In questions, the word any* is used with count nouns.

Do you have any questions about the test tomorrow?

* a lot of, some and any can be used with both count and non-count nouns.

f
3‘ Non-Count Nouns g

Non-count nouns are things (or substances) that cannot be divided into separate units. We cannot "count"
them without somehow packaging them. For example, we cannot count "milk". We can count "bottles of
milk" or "litres of milk", but we cannot count "milk" itself. Here are some more uncountable nouns:

music (but we can count songs)

art (but we can count paintings)

furniture (but we can count chairs and sofas)

oil (but we can count barrels of oil)

money (but we can count dollars, riyals, yen, etc.)

Non-count nouns are grammatically singular. In a sentence, the verb for a non-count noun therefore
remains in the singular.

g
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The indefinite article (afan) cannot be used with non-count nouns, but the definite article (the) can be. The
indefinite article implies one of something that can be more than one; the definite article does not.

To indicate quantity, the words some*, much, a lot of*, a little are used. For example:
Bill Gates has a lot of money.
There isn't much milk left in this carton.
Khalid has some antique furniture in his sitting room.
I only want a little rice.

In questions or in the negative, any* can be used with non-count nouns:

| don’t have any money left.
Do you have any bread?

* a lot of, some and any can be used with both count and non-count nouns.

Some nouns can be both count and non-count, depending on context. Look at the examples:

Countable Uncountable
There are two hairs in my coffee! hair I don't have much hair.
There are two lights in our bedroom. light Close the curtain. There's too much light!
’ It's difficult to work when there is so much
Shhhhh! I thought | heard a noise. noise :
noise.
Have you got a paper to read? 5 | want to draw a picture. Have you got
er
(= newspaper) hek some paper?
Our house has seven rooms. room Is there room for me to sit here?
We had a great time at the party. time Have you got time for a coffee?

| Macbeth is one of Shakespeare's greatest
P g work | have no money. | need work!

works.

---taken from: http:waw.englishciub.com[Iearn—engiish.htm
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Possessive Nouns

Possession can be shown by using an of phrase: The father of the boy, for example. But the usual way to
show possession (the boy’s father) is by adding [-'s] at the end for singular or simply [-'] after the —s for plural
or a noun that already ends in an —s. The singular or plural nature of the possessive is determined by the

noun itself.

Singular Possessive :

That boy’s father is moving to Dubai next month.
That boy’s brothers are moving to Dubai next month.

If a name already ends in an —s, we can add the apostrophe and add another —s or use the apostrophe alone

— without adding another —s.

Charles’ father is coming for a visit.
Charles's father is coming for a visit.

Plural Possessive

The boys' father will send them to visit their grandparents in Buraidah.
With a noun that already ends in an —s to indicate the plural, we only add the apostrophe.

Those boys’ parents are moving to Dubai next month.

Irregular plural nouns use the [-'s] ending to show possession.

The children’s toys are all over the floor.

2 g
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3. PRONOUNS

A pronoun is a word that can be used in place of a noun. By using pronouns, we don't have to constantly
repeatthe noun again and again. Pronouns are among the few words in English that display "case" according
to their function in the sentence. Their function can be:

« assubject

* asobject

+ toshow possession of something

The following table shows the different forms for personal pronouns:

person/count subject object possessive reflexive
1%singular I me mine myself
2" singular you you yours yourself
he him his himself
3"singular she her hers herself
it it its itself
1% plural we us ours ourselves
2" plural you you yours yourselves
3 plural they them theirs themselves

Possessive pronouns and possessive adjectives

Possessive adjectives are immediately followed by the noun that they modify. Possessive pronouns stand
alone, so to speak. They do not modify a noun.

person/count subject object
1%'singular mine my (house)

2" singular yours your (...)

) his (...)

: his
3@singular her(...)
. hers .

fts*(...)

1% plural ours our(...)

2" plural yours your(...)

3 plural theirs their(...)
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* Sometimes a possessive adjective and a contraction are so similar that they can cause

confusion. Look at this chart:

possessive adjectives

contractions

its (belonging to it)

its=itis

your (belonging to you)

you're =you are

their (belonging to them)

they're = they are

whose (belong to whom)

who’s = who is

Relative / Interrogative Pronouns

These pronouns are used in questions and in adjective clauses.

subject object possessive
who whom whose
whoever whomever
which which
that that
what what

Examples:

She likes homework. —subject pronoun
The teacher gave me some homework. —object pronoun
This homework is yours. — possessive pronoun

1. Khalid and I are happy to be here today. (subject, therefore NOT Khalid and me)
2. The books were given to Khalid and me. (object, therefore NOT Khalid and I)

Khalid did the homework himself. - reflexive pronoun

The cat drank all of its milk. —possessive pronoun

The teacher corrected our homework. — possessive adjective

It’s very hot today. — contraction for: Itis very hot today.

| thanked the woman who helped me. —relative pronoun as subject

The people whom we visited yesterday are very nice. —relative pronoun as object
The book that | read last week was excellent. —relative pronoun as object

What is the answer to the question? -- interrogative pronoun as subject

Khalid and ! or Khalid and me?

' In the first sentence, Khalid and I are subjects, so the pronoun (1) is in the subjective case to show its
 function. However, in the second sentence, Khalid and me are objects. The pronoun must take the

5 objective case (me) to show its function.

o
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4. ADJECTIVES

An adjective is a word that tells us more about a noun, a pronoun or a noun phrase. We can say that
adjectives modify or qualify nouns. In our understanding of adjectives, we will include in this summary the
definite article, the, and also the indefinite article, a / an, since they limit the noun —eitheras definite (the) or
indefinite (a, an). These always appear at the head of any other words that modify a noun. Itisimpossible
for both the definite article and the indefinite article to modify the same noun.

An adjective can come in front of a noun:

Khalid is an excellent student.

Adjectives can follow some verbs, especially the verb BE:

However, his brother is lazy.

‘\Words that are not classified as adjectives can act as adjectives:
| broke my coffee mug.

(coffee = a noun acting as an adjective)

They listen to the news broadcast every day.

(news = a noun acting as an adjective)

The soup is steaming hot.

(steaming = present participle acting as an adjective)

Married men provide for their families.

(married = a past participle acting as an adjective)
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i S Adjective order ;

Since there can be several adjectives in a row, the usual order of their appearance is as follows:
1. One category of the following determiners usually come first:
articles (a / an [indefinite], or the [definite] — never both)
demonstratives (this, that...)
quantifiers (some, any, a few, many, all [of] the...)
numbers (one, two, three...)
the first position for a modifier can be empty
2. Followed by adjectives of opinion: nice, lovely, beautiful...
3. Followed by adjectives of fact: size, age, shape, color, material, origin.
That lovely red table weighs a ton.
That lovely, big, red table weighs a ton.
That lovely, big, round, red table weighs a ton.
That lovely, big, new, round, red, marble table weighs a ton.

That lovely, big, new, round, red, marble Chinese table weighs a ton.

; Comparative Adjectives

i
L

When we compare two things to see how they may be different, we use comparative adjectives to describe
the differences. Comparative adjectives are used when comparing only 2 things — not 3 or 4 or more. One
or both of the 2 things being compared may be a group. The important thing is that comparative adjectives
are not used for anything larger than 2, whether individual or group.

The Oxford English Dictionary is bigger than any other dictionary. |
Dictionaries are usually thicker than other books. .

The word ‘than’ usually follows the adjective, but not always.

Venus is smaller than the Earth.
Venus is closer to the Sun.

There are two possible forms for the comparative adjective:

<

Standardized Test of English Proficiency
A Guide for Students




- T

Short Adjectives
1-sylllable adjectives as well as 2-syllable adjectives that end in -y simply add an —er.
--If the word already ends in an —e, then only an —r is added.
(late = later)
' --If the word ends in a consonant-vowel-consonant, double the last consonant.
(big = bigger)
--If the word ends in -y, change it to —i and then add —er.
(happy = happier)

Long Adjectives

2-syllable adjectives notending in—y (modern, pleasant) and all adjectives of 3 or more syllables (expensive,
intellectual) remain unchanged and are preceded by the word more. Long adjectives are also normally
followed by the word than.

| often find a quiet evening at home more pleasant than going out.
His shoes are much more expensive than mine.

| There are some exceptions that should be noted:

--With some 2-syllable adjectives, we can use either the short or long adjective
forms.

quiet = quieter than or more quiet than

clever = cleverer than or more clever than

narrow = narrower than or more narrow than

simple = simpler than or more simple than

. --A few adjectives have irregular forms that must simply be memorized:
1 good = better

: well = better (referring to health)

| bad = worse

‘ far = farther / further




.
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Superlative Adjectives

Superlative adjectives express the highest or most extreme degree or quality of 1 thing in a group of 3 or

more things. The word the precedes the superlative adjective.

Mt. Everest is the highest mountain in the world.
China, Russia and India are big countries, but China is the biggest.
Khalid is 1.76 m, Ghazi is 1.82 m, and Naif is 1.9 m. Naifis the tallest.

Like the comparative, there are two possible forms for the superlative adjective.

Short Adjectives
1-sylllable adjectives and 2-syllable adjectives that end in —y simply add an —est
--If the word already ends in an —e, then only an —st is added.
(late = the latest)
--If the word ends in a consonant-vowel-consonant, double the last consonant.
(big = the biggest)
--If the word ends in -y, change it to —i and then add —est.
(happy = the happiest)

Long Adjectives
2-syllable adjectives notending in—y (modern, pleasant) and all adjectives of 3 or more syllables (expensive,
intellectual) remain unchanged and are preceded by the words the most.

Khalid is the most pleasant student in the class.
His chemistry book was the most expensive book he had to buy

There are some exceptions that should be noted:

--With some 2-syllable adjectives, we can use either the short or long adjective forms.
quiet = the quietest or the most quiet
clever = the cleverest or the most clever
narrow = the narrowest or the most narrow
simple = the simplest or the most simple

--A few adjectives have irregular forms that must simply be memorized:
good = the best
bad = the worst
far = the furthest or the farthest

«<»
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5. ADVERBS

An adverb is a word that explains the action or intensity of another word, often a verb.

For example: The man ran quickly.

An adverb can modify an adjective: Khalid is really intelligent.

An adverb can modify other adverbs: That artist paints very well.

An adverb can also modify an entire sentence: Obviously, he speaks Arabic.

An adverb can also modify a prepositional phrase: His office is immediately on the left.

Adverbs are often formed by adding —ly to an adjective:

slow slowly

quick quickly

interesting interestingly

happy happily (the -y becomes an —i before adding the -ly)

However, it is important to remember that not all words ending in —ly are adverbs.

1. Words referring to time ending in —ly can be adjectives or adverbs:

early monthly
hourly weekly
daily yearly

1 2. Some adjectives end in —ly and are never adverbs:

courtly (manners) elderly (person) lively (party)
cowardly (lion) friendly (clerk) lonely (people)
deadly (weapons) heavenly (vision) lovely (day)
earthly (comfort) leisurely (pace) worldly (wisdom)

‘Some adverbs have no particular form: well, fast, very, never, always, often, still.
:Adverbs have three main positions:

Front (before the subject): Now we will study English.

Middle (between the subject and the main verb): He seldom takes a nap.

End (after the verb or object): We should study adverbs carefully.

sk bl bbbl ok e
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Frequency Adverbs

Adverbs of frequency answer the question, “How often?” or “*How frequently?” The most common adverbs
of frequency are: usually, frequently, often, sometimes, occasionally, rarely, seldom, never.

Adverbs of frequency come before the main verb:

We sometimes go shopping on Thursdays.
He seldom eats at home.
She never goes out alone.

However, adverbs of frequency come after the verb BE as a main verb:
They are usually at home in the evening.
She is never at home.
We are usually together.

Occasionally, sometimes, often, frequently and usually can also go at the beginning or end of a sentence:
We go shopping on Monday sometimes.
Usually they are at home in the evening.

Conjunctive Adverbs

Conjunctive adverbs serve as connectors and function like conjunctions. Here is a partial list of such words a

phrases:

also accordingly in conclusion
furthermore consequently in contrast
however eventually in other words
moreover particularly on the other hand
nevertheless previously
therefore similarly

specifically

unfortunatley

Please look in the section on CONJUNCTIONS (page 68) for further explanation.

o
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6. PREPOSITIONS

A preposition is a word that governs or rules a noun and expresses a relationship or link to another word or
element in the sentence.

There is one simple rule about prepositions that has no exceptions: a preposition is always followed by a

noun, never by a verb. By noun, the following are included:

--pronouns (him, her, they, she, us, mine)

--proper nouns (Khalid, Sarah, Riyadh, Oman)

--noun groups or noun phrases (my older brother, the English class, his new car)

--gerunds (swimming, eating, studying)

Please note that gerunds are in fact the present participle form of verbs (the —ing form) acting as
nouns.

Of special note: ‘To’ is a very common preposition. ‘To’ is also part of the complete infinitive of a verb (to
eat, to study, to run, to walk). When 'to’ is used in an infinitive, it IS NOT a preposition.

He wants to live in London.

He went to London last summer.

In the first sentence, to live is an infinitive, so ‘to’ in that sentence IS NOT a preposition. In the second
sentence, 'to’ IS a preposition —it is followed by a noun.

There are around 150 prepositions in English. The following are some of the most common or most frequent:

about beyond outside
above by over
across despite plus
after down round
against during since
along except than
among for through
around from to

as in toward
at inside towards
before into under
behind near underneath
below of until
beneath off up
beside on upon
besides onto with
between opposite within
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POINT ENCLOSED SPACE SURFACE
exact / at one of many... exact/in one of many... exact / on one of many...
at the /a corner in the / a garden on the wall on a wall
at the / a bus stop in Cairo on the ceiling  on a ceiling
at the f a door inYemen on the door on adoor
at the top of the / a page in the /a box on the cover on a cover
at the end of the / a road in my / the / a pocket on the floor on a floor
at the / an entrance in my / the / a wallet onthe carpet  onacarpet
atthe / a crossroads inthe / a building on the menu on a menu
) _ , on the street on a street
at the [ an intersection inthe /acar i v
on the island on an island

Prepositions of Place: at, in, on

In general, as seen in the chart above, we use:
at if we are referring to a POINT
in if we are referring to an ENCLOSED SPACE
on if we are referring to a SURFACE.

Look at these examples:

* Khalid is waiting for you at the bus stop.

* Theshopis at the end of the street.

* My plane stopped at Dubai and arrived in London two hours late.
*  When will you arrive at the office?

* Doyou workin an office?

* Ihave a meeting in Sharjah.

* Doyou live in Japan?

* Jupiterisin the Solar System.

* The author's name is on the cover of the book.

* There are no prices on this menu.

* You are standing on my foot.

* There was a "no smoking" sign on the wall.

* llive on the 7th floor at 21 Oxford Street in London.

©
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Some prepositions are used in ways that may seem strange. Notice the use of the prepositions of place at,

in and on in these standard expressions:

at in on
at home inacar on a bus
at work in a taxi on atrain
at school in a helicopter on a plane
at KSU in a boat on aship
at college in an elevator on a bicycle, on a motorbike
at the top in the newspaper on a horse, on an elephant
at the bottom in the sky on the radio, on television
at the side inarow on the left, on the right
Prepositions of Time: in, on, at

: We use:
‘H at for PRECISETIME (CLOCKTIME)
i in for PERIODS OF TIME (DURATION)
i on for DAYS and DATES
PERIODS OF TIME

; PRECISETIME DAYS AND DATES
! (DURATION)

at 3 o'clock in May on Sunday

at 10:30 am in summer on Tuesdays

at noon in the summer on July 6%
| at dinnertime in 1990 on October 6, 2010

' at bedtime in the 1990s on Eid Day

i at sunrise in the next century on National Day
;- at sunset in the Abbasid Period on my birthday

at the moment in the past/future on New Year's Eve

L ook at these examples:

» lhave ameetingat 9 am.

* The shop closes at midnight.

¢ Khalid went home at lunchtime.

+ InEngland, it often snows in December.

+ Do you think we will go to Jupiter in the future?

» There should be a lot of progress in the next century.

« Do you work on Mondays?

« Her birthday is on the 20% of November. (...or on November 20™.)

Notice the use of the prepositions of time (in and on ) in these common expressions:
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in on
in the morning on Tuesday morning
in the mornings on Saturday mornings
in the afternoon(s) on Sunday afternoon(s)
in the evening(s) on Monday evening(s)

7. CONJUNCTIONS

Conjunctions are joining words (sometimes called linking words) that bring together two parts of a sentence
or groups of words within a sentence. There are 2 kinds of conjunctions: coordinating conjunctions and
subordinating conjunctions as well as conjunctive adverbs which also serve as connectors.

| Coordinating Conjunctions: and, or, nor, for, so, yet, but

The 7 coordinating conjunctions join two parts of a sentence that are grammatically equal or similar . They
can join words within a sentence or they can join two parts of a sentence. They always come between the
two words or groups of words that they join.

A coordinating conjunction joins together words, phrases or clauses that are similar in structure.

Khalid and Muhammad are at school right now.
They usually play football after school, but today they plan to go swimming.

When a coordinating conjunction joins two clauses, each of those clauses is independent. In other words, if
the coordinating conjunction is removed, there will be 2 complete sentences.

They usually play football after school, but today they plan to go swimming.
They usually play football after school.
Today they plan to go swimming.
It is always correct to place a comma before a coordinating conjunction that joins 2 independent clauses.
: However, if the 2 clauses are short, it is OK to leave out the comma.
For example:
She is kind, so she helps people. (with a comma)
or

She is kind so she helps people. (without a comma)

«»
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When the last thing in a list of 3 or more things is joined to that list by and, the comma should be used
between each itemin the list. It is OK to use the comma before and, but if you want to leave it out, that is
OK too.

Nasser loves to play football, baseball, tennis, and volleyball. (comma before and)

or

Nasser loves to play football, baseball, tennis and volleyball. (no comma before and)

E Subordinating Conjunctions

A subordinating conjunction joins a dependent clause to an independent clause. The independent clause
is then thought of as the main clause in that sentence. That means it could stand alone as a complete
sentence. The subordinate clause or dependent clause cannot stand alone as a sentence as long as the
subordinate clause is with it.

Khalid stayed home from school since he was sick.

Khalid stayed home from school. (a complete sentence — the main clause)

Since he was sick. (NOT a complete sentence — the dependent clause)

He was sick. (a complete sentence if since is removed)

There are a lot of subordinating conjunctions. Some of the most common ones are: after, although, as,
because, before, how, if, once, since, than, that, though, till, until, when, where, whether, while.

A subordinating conjunction always comes at the beginning of the dependent clause:
Khalid stayed home from school since he was sick.
However, the dependent clause can also come before the main clause:

Since he was sick, Khalid stayed home from school.

As you can see, when the dependent clause comes first, a comma stands at the end of that clause. If the
dependent clause follows the main clause then only a full stop at the end of the sentence is needed.
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| Conjunctive Adverbs :;

i

Conjunctive adverbs serve as connectors and function like conjunctions. Here is a partial list of such words

or phrases:
accordingly in conclusion particularly
also in contrast previously
consequently in other words similarly
eventually moreover specifically
furthermore nevertheless therefore
however on the other hand unfortunately

Conjunctive adverbs indicate a close relationship between main clauses, but they cannot join main clauses
in the way that coordinating conjunctions can. The clause which is introduced by a conjunctive adverb is
usually preceded by a semi-colon. If the conjunctive adverb is a long word (more than 4 letters), it is usually
followed by a comma.

In the examples below, the first sentence of each pair uses a coordinating conjunction. The second sentence
of each pair, however, uses a conjunctive adverb:

Mariam thought she had lost her mobile, but she found it in her apartment.
Mariam thought she had lost her mobile; however, she found it in her apartment.

He loves his work, so he is eager to go to his office every morning.
He loves his work; therefore, he is eager to go to his office every morning

Conjunctive adverbs are not always at the beginning of the clause they belong to; when they are in the
middle or at the end, they are set off by commas:

a Khalid won't be able to arrive on time; Nasser will, however, be on schedule.
" Khalid won't be able to arrive on time; Nasser will be on schedule, however.

Some conjoined sentences with identical elements in the verb phrase can use the conjunctions too or so to

join them.
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TOO [EITHER—SO /[ NEITHER: Conjoined Sentences

A conjoined sentence is a sentence that has two statements that have different subjects but the same verb.
The two statements are joined together and the 2nd verb reduced to the use of a helping verb instead
of repeating the 1st verb again. Other information in the sentence that is identical does not need to be

repeated. Look at the examples:

Using TOO when the statements are affirmative:

prepositional
conjunction subject verb TOO
phrase
Khalid is studying in the library
and I am too.
Using EITHER when the statements are negative:
conjunction subject verb object EITHER
Khalid didn’t finish his homework ‘
and I didn’t either.
Use DO when the original verb is simple present:
prepositional
conjunction subject verb TOO
phrase |
Khalid studies at KSU i
and I do too. |
Use DID when the original verb is simple past:
prepositional
conjunction subject verb TOO
phrase
Khalid finished his homework
and ¢ did too.
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More examples:
+ Chinaisin the Far east and Japan is too.
* Nasser has been thinking about going to Paris and | have too.
* Muhammad would never even think about being rude to his mother and | wouldn’t either
* Samirisn't thinking at all about what he’ll do this summer and his friends aren‘t either.
* Yasiris hungry and | am too.
* Zaid doesn't drink coffee late at night and they don’t either.

If the words SO (for positive statements) and NEITHER (for negative statements) are used in conjoined
sentences, they follow immediately after the conjunction and the word order of the 2nd clause is inverted.

Conjunction
subject verb other word(s) with so (+), verb subject
neither (-)
Khalid s hungry and so am L
Khalid didn't work very hard and neither did L

More examples:
* Chinaisin the Far East and so is Japan.
* Nasser has been thinking about going to Paris and so have I.
* Muhammad would never even think about being rude to his mother and neither would I.
* Samirisn't thinking at all about what he’ll do this summer and neither are his friends.
¢ Yasiris hungry and soam .
*  Zaid shouldn‘t drink coffee late at night and neither should they.
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8. INTERJECTIONS

Interjections are short exclamations that have no real grammatical value. They are used more in spoken
English but are also found in written English. Often they are not actually real words but rather ‘*hesitation

devices’ like:
uh, er, uh-huh, hmmm, ah, and oh.
Some actual words serve as interjections:

well, really, honest, of course, ouch.

Often they are expressions of surprise or disappointment or the feeling of a sudden strong emotion. In
such cases, they may well be set off by themselves with an exclamation mark. If they are incorporated into
a sentence, they are usually set apart by commas. The important thing is to recognize them as outside the
normal boundaries of grammar.

Examples:
He said that the moon is made of green cheese. Really! Does he think | believe that?
If he thinks | believe the moon is made of green cheese, well, he is sorely mistaken!
But teacher, | didn’t have time to finish the homework. Honest!

But teacher, honest, | didnt have time to finish the homework.
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PUNCTUATION

There are 7 basic symbols used in English to show the separation of sentences or parts of sentences and to
make their meaning clear:

FULL STOP QRPERIOD .o oo won in oy v w3t satmin i

The main use of the full stop or period is to indicate that a sentence is finished. A sentence must have both
a subject and a verb and express a complete idea.

COMMA L O O Y R T T R Y T S Y T T ey rrr fir i

1. Within a sentence, the comma is used to separate a dependent clause that comes in front of a main
clause.
Since he was not feeling well, Khalid stayed home all last week.
If the dependent clause comes after the main clause, a comma is not used.
Khalid stayed home all last week since he was not feeling well.

2. Use a comma before a coordinating conjunction that joins two independent clauses.
She was late for the exam, but she finished before all the other students.

3. Acommais used to separate three or more items in a list. The comma before the and for the last item
is optional. A comma is also used to separate three or more adjectives or adverbs.

I bought some coffee, sugar, bananas, apples, and pears at the market.

1 bought some coffee, sugar, bananas, apples and pears at the market.

He loves the old, brown, woolen shirt his mother made for him long ago.
She always writes quickly, concisely and accurately.

4. Adverbs used as sentence modifiers are set off by one or two commas, depending on their placement
in the sentence.
Fortunately, he had prepared well for the items covered by the exam.
He had prepared well, fortunately, for the items covered by the exam.

5. CAUTION: Do not use a comma to separate two sentences.
Khalid likes to play football, Muhammad prefers to play volleyball. (wrong)
Khalid likes to play football. Muhammad prefers to play volleyball. (OK)
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SEMI-COLON

T TR TRV A T TR TV T TR I TR B T R T R TP T T
j The semi-colon can be used to separate sentences that are grammatically independent but closely linked to
- one another regarding subject matter or meaning.

Khalid likes English; it is his favorite subject.

G DN e e e o nne e en o o s e

The colon expands on the sentence that precedes it either with a list or with words of explanation. The
sentence that comes before the colon must be grammatically complete.

There are many reasons for poor written communication: lack of planning, poor grammar, misuse of
punctuation marks and insufficient vocabulary.

Some writers have difficulty understanding punctuation rules: they think the examples are not clear.

B POSTRORFHE ™ v 0 S i i e e
The apostrophe is used to indicate possession:
My friend’s father just bought a beautiful new car.
It is also used in contractions: can't, don't, wouldn't .
f QUESTION MARK ?7? 2?72 7227 7222 272 277 277 277 ?7?
The question mark is used as the end punctuation for a question.
How happy do you think they are?
He’s a student in our college, isn't he?
There is no need for a question mark in a sentence where the question clause is embedded.
The doctor asked me where | was feeling pain.

I'll ask my friend when the next plane is supposed to land.

EXCLAMATION MARK It it e nynn i ne e
An exclamation mark is used as end punctuation after a statement that expresses strong emotion or feelings.
If the statement were spoken, it would be uttered in a raised voice.

Don’t let me ever hear you say something like that again!

Quch! That hurt!

Wow!
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13. http://www.learnenglish.de/

14. http://www.tolearnenglish.com/

15. http://www.usingenglish.com/

16. http://www.voanews.com/learningenglish/home/

HIGHLY RECOMMENDED
http://www.edufind.com/english/grammar

- *xThe web links included in the references and the study aids were accurate at the time this material was
~ gathered, but in some cases may no longer be accessible.

@



ee




=

‘%ModelTest 1

Model Test 1
with
Answer Key

Standardized Test of English Proficiency Model Test 1
A Guide for Students




Section One

Items: 1 — 20

Time: 25 min

INSTRUCTIONS

There is only ONE correct answer to each question.
Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.

Section One: Model 1
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Instructions JL

Recording Number (2)

Listen carefully to the recording and then answer

the questions. For each question, choose the best 6
answer and mark it on your answer sheet. A. Inan office.
B. Inamall.
Recording Number (1) C. In arestaurant.
D. Ona boat.
i
A. On a trip to Bahrain.
B. In the winter. ! : ;
, _ A. Pretty inexpensive, but good.
C. During an accident. :
Bl A elieic B. Pretty (—T_‘xpenswe, but goo.d.
C. Expensive, but not worth it.
D. Not good for special occasions.
2
A. He forgets about how cold it gets. g
S — A Tyt s pns
= B. They're both on a boat now.
Diilistorgetstolas onpienics. C. They are eating the same food.
D. They are both eating on the same boat.
3
A. Because he was in an accident. _ ‘i
B. Because he checked into a hospital. Recoring Number (3} 5
C. Because his friend was in an accident. )
D. Because he was in Bahrain. A. Inalecture hall.
B. Inachemistry lab.
z C. Inageology lab. '
A. She was not able to speak. D. Inan archeology museum.
B. She was not able to walk.
C. She was extremely disturbed. 10
D. She was awfully late. A 71
B. 17
c . im0
A. Heis not good at math. D. 127
B. He didn‘t understand the problem.
C. He doesn’t have a calculator. 11
D. He forgot about Khalid's story. A. Carelessly.
B. Carefully.

C. Dangerously.
D. Extremely.

>
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A. The chemistry teacher.
 B. The lab assistant.
- C. Some assistance.

D. The assistant professor.

13
- A. Notes
C. Measurements

B. Books
D. Assignments

14
Ask him to:
A. answer it slower. B. write it down.

C. teachitover. D. say it again.

Recording Number (4)

15

A. After the twelfth when she gets paid.
3. When the next car shipment arrives.
C. As soon as she sells her next ship.

D. She will never buy a car for her.

Recording Number (5)

Some rugs have bugs, but that’s no problem.
= That situation makes her feel very contented.

" Ginger tea and fire both warm her up.
D. She is warmer in a curl inside a rug.

Recording Number (6)

L. Two months from now.
8. Two months ago.

. Exactly 33 years now.
). 34 years in two months.

Section One: Model 1

18

A. He liked him a lot because he was a good man.
B. He worked so much that he was like superman.
C. He gave too much work to all the teachers.

D. He was seldom away from his office.

19

A. They are more energetic than students at the
community college.

B. They are full of ambition.

C. They are less energetic than the students atthe
community college.

D. They are not wobbly.

He is full of virtue and vices.
He has no virtues or vices.
He admires him a lot.

=R R

He doesn't admire him.

Stop!
End of Section.
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Section Two

Items: 21 - 40

INSTRUCTIONS

There is only ONE correct answer to each question.
Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so. |

Section Two: Model 1
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Instructions
Read the following:passages, then choose the

best answer to each of the questions that follow

and mark it on your answer sheet.

Passage 1

1)

2)

3)

Last night | had a frightening dream. | should
explain that just before | went to bed, | ate
an apple. | mention that because my mother
always told me that if | ate right before going
to sleep, | wouldn't sleep well and might even
have a bad dream. But let me tell you about
my dream.

| found myself in what seemed to be a familiar
area outdoors, but | couldn't remember ever
having been there before -- in my waking life,
| mean. Maybe in some other dream | had
been there and that might be why it seemed
familiar. There were lots of huge trees and
vines and greenery, more or less like | would
imagine a jungle in Brazil to be. It was very
humid, but | was dressed in winter clothing.
That made me even more uncomfortable and
| remember thinking that | should go home
and change clothes. But where was home
and how could | get there? | didn't know the
answer to either question — nor did | know how
| ended up where | was. It never occurred to
me in the dream that | could remove the heavy
winter coat, hat and gloves that | was wearing
-- it just didn't seem to be an option.

In the dream | was all alone. No one was with
me. Suddenly | heard voices and saw some
people who had been my classmates in high
school. They were much older and looked
quite different, but | instinctively knew who
they were. In the dream, | could even recall
their names. There were four of them and
they seemed very concerned for me. They

were dressed in loose light colored clothing

Section Two: Model 2

4)

appropriate for this jungle, but my attire didn't
attract their attention at all -- nor did they
mention anything about it being out of place.
One of them approached me and | knew he
was speaking for all of them. He said they had
been sent to warn me not to eat the fruit from
the tree in front of me nor to drink any of the
water from the stream nearby. As he told me
this, I realized that | had somethingin my hand.
It was fruit from the very tree he was warning
me about —and | had already eaten more than
half of it. Without him saying so, | knew that
this fruit was poisonous and probably also the
water from the stream.

At that point | awoke in a heavy sweat, having
thrown off my covers. | went to the bathroom
and splashed some water on my face to cool
down a bit, thenreturned to bed. How strange,
| thought, that an apple tree was growing in
the midst of that jungle!

Questions

21. What did the writer do just before he went to
bed?

A. He listened to his mother.
B. He had a bad dream.

C. He didn't sleep well.

D. He ate some fruit.

22. In hisdream, where did the writer find himself?

He found himself in:

A. his waking life.

B. a humid jungle.

C. another dream.

D. a huge tree.
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23. According to paragraph (2), what did the writer
feel that he wantécf"ﬂto'{do in the dream?

He wanted to:

A. be farfrom home.

B. be more uncomfortable.
C. call his mother.

D. put on different clothes.

24. Which of the following is closest in meaning to
the clause, it just didn’t seem to be an option?

A. He didn't even think of it.

B. He thought about doing it.

C. There were too many choices.
D. There weren't enough choices.

25. According to paragraph (3), until when did the
writer think that he was alone in the jungle?

He thought he was alone until he:
A. remembered their names.

B. met some of his teachers.

C. overheard people talking.

D. saw some strangers.

26. What did his friends in the dream warn him?

They warned him NOT to:

A. swim in the stream nearby.

B. take fruit from the tree before him.
C. speak for all of them.

D. change his winter clothes.

27. What was his condition when he woke up?

He woke up:

A. splashing water.

B. under heavy covers.
C. perspiring heavily.
D. under an apple tree.

Standardized Test of English Proficiency

28. Why did he dream about an apple tree?

Because:

A. he ate an apple before sleeping.

B. his classmates suggested he do so.
C. heloves apples passionately.

D. he thought apples were healthy.

29. What is the best title for this passage?

A. ASweet Dream

B. Mother’s Assignment
C. Friend's Visit

D. A Nightmare

Passage 2

1) The following paragraph was written by Siraj
Wahab who writes for Arab News, a newspaper
in SaudiArabia. This selection is from his series
of articles entitled Davos Diary, reporting on
events at the World Economic Forum (WEF) in
Davos, Switzerland.

2) As | write in my Davos Diary on the afternoon
of Day 3 of the World Economic Forum, the
sun is out in full force. Not that it has raised
the temperature, but the imposing mountain
peaks that have been hiding behind thick fog
are clearly visible in all their majestic glory. It
is so amusing to watch the layers of snow melt
from the treetops and trickle down as crystal
clear droplets. The fir trees appear quite green
now. It is as if nature is revealing a fresh coat
on the landscape. Just the appearance of sun
on the horizon is spiritually lifting. One might
not feel the warmth from the outside, but
from within the sun’s rays are a source of great
energy. Itis all a state of mind.

Section Two: Model 2
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30. What is Mr. Wahab's profession?

He is:
A. ascientist. B. ajournalist.

C. an economist. D. an artist.

31. What is the ‘Davos Diary’ about?

It is about what he:

A. saw and heard during the WEF.

B. did at the WEF before Day 3.

C. felt when he saw the sun in Switzerland.
D. thought about the weather in Switzerland

32. Why have the mountain peaks not been
visible?

Because of the:

A. glorious majesty.
B. tall treetops.

C. clear horizon.

D. heavy fog.

33. Which of the following is closest in meaning to
the word landscape?

A. freedom in the land
B. features of aregion
C. the view in a city

D. the mountain peaks

34. The writer thinks of the sun's rays as having
more effect on:

A. the body.

B. the weather.
C. the horizon.
D. the psyche.

Section Two: Model 1

35. The statement, It is all a state of mind, is best
described by which of the following?

A. Anillusion.

B. Aninterest.

C. Asubjective reality.
D. A measureable reality.

Instructions
Choose the best answer to complete the
following sentences and mark it on your answer

sheet.

36. The bird was shot the gun.
A. by B. from
C.in D. for

37. The teacher was him because he

didn't do his homework.

A. angered with B. angry to

C. angry with D. angered to

38. Although they don't have much money, there
are a lot of people in the world who are

happy

A. very B. much
C. too D. many
39. He's boy in the whole school .

A. the strong B. much stronger

C. the strongest D. the most strong

4o0. Canyou tellme ?

A. where is the bus stop
B. where the bus stop is
C. where stops the bus
D. where the bus is stops

Stop!
End of Section.

L4
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Section Three

Items: 41 - 60

Time: 25 min

INSTRUCTIONS

* There is only ONE correct answer to each question.
* Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so. |
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Instructions

Read the following ‘passages, then choose the
best answer to each of the questions that follow
and mark it on your answer sheet.

Passage 1

A patient was left in the lurch during a routine
appendixoperationinBelgrade whentwosurgeons
started fighting and stormed from the operating
theater to settle their dispute outside, the daily
Politika reported Wednesday. Surgeon Spasoje
Radulovic was operating when his colleague
Dragan Vukanic entered and made a remark that
started a quarrel, said the anesthesiologist on
duty. “At one moment Vukanic pulled the ear of
the operating doctor, slapped him in the face and
walked out," she said. Radulovic followed and an
all-out fight ensued, resulting in bruises, a split lip,
loose teeth and a fractured finger. The operation
was completed successfully by the attending
assistant doctor.

Questions

41. What happened between the two surgeons?

A. They performed an operation.

B. They went to an operating theater.
C. They stormed into the surgery.

D. They had a serious fight.

42. How was the story reported?

The story was reported:
A. in a newspaper.

B. onthe television.

C. onthe radio.

D. in a magazine.

Section Three: Model 1

43. Whatcanbeinferredabouttheanesthesiologist
on duty?

The anesthesiologist is:
A. also a physician. B. female.

C. male. D. also a nurse.

44. The word fractured is closest in meaning to
which of the following?

A. bleeding B. cut
C. disjointed D. broken

45. Who finished the surgery?

A. The anesthesiologist.
B. The head nurse.

C. An assistant surgeon.
D. An assistant nurse.

46. Leftin the lurchis closest in meaning to which
of the following?

A. In a comatose condition.
B. In a helpless condition.
C. Inthe nurses care.

D. In severe pain.

Passage 2

Russia’s Duma, the lower house of parliament,
passed an animal rights bill several months ago.
It prohibits people from eating their pets. The bill,
22 pages long with amendments, forbids a whole
range of activities considered cruel to animals.
This includes using pets for meat or fur. Among
other practices banned are performing operations
without a medical reason or deliberately
wounding them to photograph them for films or
television programs. Visitors to the country are
often surprised by the number of dogs that parade

o

down even the poorest streets.
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Questions

47. What is the Russian Duma?

A. Alaw protecting animals.

B. A small house for governors.
C. Part of the legislative body.
D. Animal rights bill.

48. The word range is closest in meaning to which
of the following?

A. abroad list

a busy schedule
a wide sheet

a large chart

O N w

49. What does the 22 page bill prohibit?

A. Photographing pets.
B. Brutality to animals.
C. Endangering species.
D. Maintaining zoos.

50. What often surprises visitors to Russia?

A. Television programs.

B. Parades of people on poor streets.
C. Banned practices.

D. The presence of dogs everywhere.

Instructions
Choose the best answer to complete the
following sentences and mark it on your answer

sheet.

51. Mishari: You're not very tired, are you?
Misfir:

A. Yes, you are

B. No, you are not
C. Yes, lam

D. No, not

)
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52. Everyone takes the test, they?

A. did
B. didnt
C. do
D. don't

53. ldon't need help.

A. any
a much
some

2 0 W

afew

Ero | forget the people | have met here.

A. should always
B. have to never
C. will never

D. had to always

L will play an increasingly large role
in all of our lives.

A. Few computers
B. The computers
C. Computers

D. Many computers

56. He would like to early at the hotel so

he can take a shower before the meeting.

A. checkin
B. check out
C. sign off
D. payup

57. lwatched

A. at atime five movies
B. five moviesin atime
C. five movies for a time
D. that movie five times
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58. He never thought of fixing it

A. inaway
B. like that
C. that manner
D. for this way

59. She got the taxi.

A. in
B. on
@ To
D. at

P 60. Isaw a picture of a farm in that
magazine.

- A. beauty
B. beautiful
C. beautifully
D. beautify

Stop!
End of Section.

Section Three: Model 1
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Section Four

e o 0
Items: 61 - 0

Time: 25 min

INSTRUCTIONS

« Thereis only ONE correct answer to each question.
= Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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Instructions :

Read the following pas;ages, then choose the
best answer to each of the questions that follow
and mark it on your answer sheet.

Passage 1

1) My own notorious carelessness caused me to
drop a very large sum of money on the street.
A group of young boys returning from their
school came upon it and promptly turned
it over to a nearby policeman. The students
and the officer for some reason guessed that
it must belong to the Westerner who lives
nearby. Before | had even noticed the loss of
the money, the policeman came knocking on
my door and informed me that what had been
lost has been found. Now, at this point, there
is a need to emphasize that the policeman had
the equivalent of several years’ pay in his hand
and that the students who found the money
were from families that were struggling from
paycheck to paycheck. Any temptation to
keep the money would have been natural. But
the promptness with which the money was
returned to me proved that the idea never
occurred to anyone involved in the incident.

" 2) When | went to the Abgaiq Police Station to
sign for the money, | was treated like royalty.
| was invited to sit with the officers and have
some coffee. What normally would have been
an administrative routine turned into a very
pleasant social event and | felt as if | were
sitting in comfortable conversation with old
friends. Good works should be rewarded. |
tried to employ that maxim by offering the
father of the boy who took charge of the
money a generous reward for his help and
honesty. The father refused the money, said
that my gratitude was quite sufficient and that
his family was glad to be of service.

Section Four: Model 1

Questions

61. What happened because of the man's
thoughtlessness?

A. He met a group of schoolboys.
B. Heraninto a policeman.

C. He walked recklessly.

D. He lost something valuable.

62. What did the boys do with what they found?

A. They turned it over to a teacher.

B. They passed it around to each other.
C. They handed it to the authorities.

D. They took it directly to the man.

63. What did they think about the person who lost
the money?

They thought he:

A. was European or American.
B. lived far away.

C. knew he lost the money.

D. was very unhappy.

64. What did the policeman immediately do?

He took the money to:
B. his home.
D. the bank.

A. the police station.
C. the man’s apartment.

65. What kind of families do the students come
from?

A. Upper class.
C. Very rich.

B. Working poor.
D. Quite wealthy.

66. How was the man treated when he went to
sign for the money?

A. Kindly.
C. Rudely.

B. Unbecomingly.
D. Routinely.

<>
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67. Why did the man drink coffee at the police
station? SN

Because:

A. he was from a royal family.
B. he was really thirsty.

C. there was no tea.

D. it was offered.

68. What did the man offer the boy's father?

A. Service.
C. Atoken.

B. Aprize.
D. A maxim.

69. How did the father express the family's
reaction?
He said they were happy to be:

A. helpful. B. rewarded.
C. satisfied. D. grateful
Passage 2

1) Literature preserves a record of the thoughts,
dreams and deeds of the people of a given
culture and society. In spite of a perhaps vast
time and distance from our own place in those
two dimensions, literature helps us to know
that human nature is staked in a reqularity that
is comforting. From it we learn the boundaries
of what others have been able to endure. It
awakens in us an awareness of the vastness
of our own potential and perhaps arouses
us to a penance for our mediocre goals and
achievements. It can inspire us to establish
higher goals, expand our personal vision and
find the internal wherewithal to boost the
energy that drives us daily.

2) But all of what you have just read are virtues
that are rooted and germinate from the
seemingly mundane act of reading. Have
you ever thought of how life would be if you
couldn‘t read?

D
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Questions

70. The word preserves in paragraph (1) is closest
in meaning to which of the following?

B. owns
D. keeps

A. sorts
C. repairs

71. What does the phrase those two dimensions
refer to?

A. vastness and distance
B. culture and society

C. thoughts and dreams
D. time and space

72. According to the passage, what can we learn
from literature about people of the past?

A. The vast boundaries of their literature.

B. The limits of their forbearance.

C. The stake of their comfortable regularity.

D. The comfort of their chosen mediocre goals.

73. What does the word it refer to?

A. regularity B. human

C. literature D. nature

74. To what awareness can literature awaken us?

An awareness of:

A. our own capabilities.

B. astrong sense of vastness.

C. penance for our achievements.
D. a mediocre level of goals.

75. The last sentence in the passage is a rhetorical
question. Which of the following is most likely to
be the kind of response expected?

The expected response would be:
A. pleasant. B. routine.

C. unimaginable. D. fancy.

Section Four: Model 1
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Instructions
Identify the incorrect underlined word or words
and mark your response on your answer sheet.

76. I like my new job, but it is very challenged.
| have a lot of new things to learn.
A, my

. challenged

B
C. alotof
D. tolearn

Instructions
Choose the best answer to complete the

following sentences and mark it on your answer
sheet.

77. Which of the following sentences has the
correct word order?

A. I drink a cup of coffee always at breakfast.
B. I drink always at breakfast a cup of coffee.
C. | at breakfast drink a cup of coffee always.
D. lalways drink a cup of coffee at breakfast.

78. ldidn‘t know is a doctor.

A. the man in the blue suit
3. the man of the blue suit
C. him with the blue suit
D. heinthe blue suit

9. My clock at home, the clock in my office and
the watch on my arm all have different times.

Wlaybe none of them are correct. What time
?

“. is on your watch
. do you have

Y &

[ isreal time
I doesitreally

Section Four: Model 1

8o. there has never been a mother

A. Throughout all of history / wonderful as my mother
B. During the history / as wonderful as she

C. From the beginning of time / like mine

D. In all of history / like me own mother

Stop!
End of Section.




Model Test 1

Section Five

Items: 81 — 100

Time: 25 min

INSTRUCTIONS

* There is only ONE correct answer to each question.
* Becertain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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Instructions
Choose the best answer to complete the
following sentences and mark it on your answer
sheet.

81. Faisal asked me | wanted.

" A. where
B. what
C. why
D. how

82. Do you have minutes?
I need more information.

A. some /some
B. several f a few
C. afew/alittle

D. a little [ a bit
83. Sami likes tea.
He usually adds sugar to it.

A. bitter [ afew
B.sour/alot of
C. sweet/afew
D.sweet [ alot of

8.. | have known Badr since he ten years old.

A. has been
3. 15

C. had been
D. was

B5. | didn't expect
A. to have

3. to be

. been

D. getting

Section Five: Model 1

invited to give a lecture.

86. | appreciate the news yesterday.

That was very thoughtful of you.

A. telling
B. giving
C. having been told
D. having been gotten

87. Abdullahsaid he he'd gotothe library
to study.

A. thought

B. is thinking
C. has thought
D. thinks

88. It took me a long time to finish my
| had a lot of

A. homework [ assignments
B. homeworks / assignments
C. homework / assignment

D. homeworks / assignment

89. Some of the desks in the classroom
broken.

A. being
B. are

C. is being
D. is

go. Everybody knows that the sun in the
east and in the west.

A. rose [ sets

B. hasrisen / has set
C. canrise [ canset
D. rises [ sets
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g1. The weather in the Arab Gulf always
hot in the summers. &

A. is changing
By 15

C. turns

D. changes

g2. Khalid: Where is your family from?
Yusuf: from Riyadh.

A. They are
B. They were
C. ltwere
D. Itwas

g3. We asked him about

A. who has seen him
B. what has seen him
C. what he had seen
D. what had he seen

94. he comes, we will already have left.

A. After

B. Assoon as
C. By the time
D. Every time

g5. At this time tomorrow he across the
Atlantic.

A. has been flying

B. could have flown

C. might have flown

D . will be flying

96. When | woke up this morning | felt sick,
| didn‘t go to work.

A. because B. after

C. and D. since

) g

Standardized Test of English Proficiency
A Guide for Students

97. standing beside the door?
A. How that man is

B. Where is that man

C. Why that manis

D. Who is that man

98. Which of the following sentences has the
correct word order?

A. Diabetes is a chronic condition that is
becoming quite widespread throughout the
Gulf countries.

B. Becoming quite widespread throughout the
Gulf countries is a chronic condition that is
diabetes.

C. A quite chronic condition that is diabetes is
becoming widespread throughout the Gulf
countries.

D. Throughout the Gulf countries is diabetes
a chronic condition that is becoming quite
widespread.

Section Five: Model 1




Questions gg and 100 both relate to the following:

(1) His friend had';'/isi'ted him in Oman several
times. (2) He had never been in the Emirates
before. (3) They first met when they made
‘Umrah three years ago. (4) Khalid was very
happy to visit his friend in Sharjah.

99. The paragraph doesn’t make sense because
B the sentences are not in the correct order. Choose

‘the best order so that the paragraph makes sense.

B (4),(2), (2), (3)
B. (4), (2), (3), (1)
E. (3), (2), (1), (4)
D. (1), 3), (2), (4)

200. To which sentence from the paragraph above
tan we add the following clause?
, but he had

always wanted to go.

A. Aftersentence (2): His friend had visited him in
Oman several times.

8. After sentence (2): He had never been in the
Emirates before.

. After sentence (3): They first met when they
made 'Umrah three years ago.

). After sentence (4): Khalid was very happy to
visit his friend in Sharjah.

Thank you for following the instructions.
Wishing you a successful future.

Section Five: Model 1
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Section One

INSTRUCTIONS

* Thereis only ONE correct answer to each question.
* Becertain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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Instructions

Listen carefully to the recording and then answer
the questions. For each question, choose the best
answer and mark it on your answer sheet.

Recording Number (1)

=]

ON WP w ON @>» N O ®m P

ONw» £

oON W@ v

. Grammar
. Geography
. Literature
. Philosophy

. The assignment for the next class.
. The next class meeting.

. His absence today.

. The novel review.

. He doesn’t care about absences.
. He asks for extra work from absentees.

He records all absences.

. He lowers grades because of absences.

. Read a new novel.

Write three pages from Hemingway's novel.
Study the review.

. Read and review Hemingway's novel.

. Finish reading the novel.

Study hard for the upcoming quiz.
Don’t miss the class.

. Don’t wait until it is too late.

Model 2
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Recording Number (2)

N W@W>» © ONm> N 0o W > -

e oo e T

. To leave for work early.

. To leave from work early.

. To bring home some espresso.
. To pray before coming home.

. Not go to work.

. Not buy anything.

. Go to the market for her.
. Pick her up after work.

- If he leaves work early.

. If the market is open.

. If shopping doesn‘t take long.

. If the prayer doesn’t come early.

. Turkish coffee.

. Ginger cappuccino.
. Double espresso.

. Mocha java.
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Recording Number (3)

10

A. Friend.
B. Neighbor.
C. Daughter.
D. Mother.

il g

A. She has been away at school.

B. She has been doing guesswork.
C. She has been visiting Dr. Fatima.
D. She has been feeling very sick.

12

She is thankful that Dr. Fatima was:
A. determined.

B. firm.

C. necessary.

D. ordered.

13

The doctors finally:

A. made friends with her daughter.

B. saw things clearly after some confusion.
C. opened a door for her and her daughter.
D. gave them someone to understand.

14

A. Pneumonia.
B. Diagnosis.
C. Treatment.
D. Medication.

) %
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15

A. Because they were afraid of her.

B. Nadia didn’t improve like she should have.
C. Pneumonia takes a long time.

D. Her mother became angry with them.

16

A. She left the hospital in a short time.
B. She was asked to stay longer.

C. Jenan stayed at the hospital with her.
D. She renewed her old medication.

Recording Number ()

17

A. At a sword fight.
B. At a restaurant.

C. At a supermarket.
D. At a sports center.

18

A. That he disagrees.
B. That he accepts.
C. That he doubts.
D. Thathe agrees.

Section One: Maodel 2



Recording Number (5)

19

A. Soitdoesn't get lost.

B. In order to protect it from damage.
C. Touse itin writing a report.

D. The library wants it back.

20

A. He didn't have time to read it.

B. Several pages were torn out of it.
C. He can't find it.

D. It got wet in a storm.

Stop!
End of Section.

Section One: Model 2
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Section Two

Items: 21 - 40

1R, -
Time: 25 min

INSTRUCTIONS

There is only ONE correct answer to each question.
Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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| Instructions

' Read the followin‘gj passages, then choose the
best answer to each of the questions that follow
and mark it on your answer sheet.

Passage 1

1) A couple of weeks ago | was unfortunate
enough to get stung by both a bee and a
hornet while working in the garden. My arm
swelled up, so off to a clinic | went. The clinic
gave me cream to put on the bites and an
antihistamine. The next day the swelling was
getting progressively worse, so my husband
said | should see my reqular doctor. | made an
appointment for that afternoon. He said my
arm was infected and gave me an antibiotic.
He also said that the next time | got stung
| should put a penny on the bite for fifteen
minutes. | thought to myself, if there everis a
next time I'll follow through on his suggestion.

2) Well that night my niece got stung by two
bees. When she came over to swim | looked
at the bite and it had already started to swell.
Immediately | thought of my doctor’s advice.
Off | went to get a penny and taped it to her
arm for fifteen minutes. The next morning,
there was no sign of a bite. Wow, were we
surprised! But we decided she just wasn't
allergic to the sting.

3) Well, guess what happened again on Saturday
afternoon? | was helping my neighbor in her
flower garden and | got bit again two times
by a hornet on my left hand. | promptly went
into the house and taped two pennies to my
bites and then sat and sulked for 15 minutes.
The penny took the sting out of the bite
immediately, but | wasn't sure if it would stop
the swelling. While [ was doctoring my stings,
the hornets were attacking my neighbor and
she got bit on the thumb. Again, the penny.

Section Two: Model 2
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The next morning | could only see the spot
where | had been stung. There was no redness
or swelling at all. | went over to see my
neighbor and hers was the same. She couldn't
even tell where she had been bitten.

The doctor certainly knew what he was talking
about when he said that somehow the copper
in the penny counteracts the usual effects of
the bite. My suggestion to you is to keep a few
coppercoinsonhand. | knowinsome countries
there are no coins made from copper. If that's
the case in your country, why not save some
pennies on your next visit to America or ask
friends if they have some. And who knows,
maybe the copper is good for bites of insects
other than bees, hornets and wasps. It's worth
atry!

Questions

21. What stung the writer?

= ORI

=R AR

A snake and a hornet.
A wasp and a bee.

A hornet and a bee.
A bee and a spider.

. She went to a clinic because her:

arm was swollen.

pain was intense.
husband told her to.
neighbor suggested it.

23. What did her doctor suggest she put on a sting

if it happened again?

A.
B.
G
D.

An ointment.

An antihistamine.
A tape.

A copper coin.
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24. According to paragraph (3), where was she on
Saturday afternoon?

A. At the doctor's.
C. At the clinic.

B. At her neighbor's.
D. At her niece's.

25. Which of the following is closest in meaning to
the word sulked in paragraph (3)?

A. Felt somewhat joyful.

B. Thought about things.

C. Guessed what happened.
D Felt sorry for herself.

26. What happened the morning after she put a
penny on her neighbor’s sting?

Her neighbor couldn't see where:
A. her thumb was.

B. she had been bitten.

C. her garden was.

D. she had put the penny.

27. What is the effect of copper on a bee's sting?

It works:
A. against it. B. with it.
C.forit. D. into it.

28. Which of the following is closest in meaning to
the phrase on hand in paragraph (4)?

A. With your neighbor.

B. Usually in your car.

C. Close to a flower garden.
D. Easily available.

29. What is the best title for this passage?

A.The Clinic's Advice

B. Picking Flowers in a Garden
C. Bee Stings and Pennies

D. Helping Your Neighbor

@
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Passage 2

1) Delhi residents are under siege by monkeys
due to a shortage of trappers who could
free the people from the simian menace,
reports said on Tuesday. Many residents have
barricaded their houses with grills and wire
mesh to keep the marauding simians from
looking for a meal from their refrigerators, The
Times of India newspaper reported.

2) A woman told the newspaper that she had to
spend hours at a stretch in her living room with
the kitchen locked to keep the monkeys away.
“You feel chained down as you can’t keep the
doors and windows open. At times it seems as
if we are inside a cage and the monkeys are like
visitors to a zoo,” she said. As a result, many
people keep their refrigerators and water
tanks locked and are even afraid to dry their
clothes in the open lest the simians rip them to
bits, the newspaper said.

3) “Thereisadearth of monkey trappers not only
in the city but the whole of northern India.
There has been no response to a notice inviting
monkey trappers that we had put in papers,” 2
city official said.

Questions

30. Where is this passage taken from?

A. A city official.

B. Areport from a zoo.
C. Awoman in Delhi.

D. A newspaper in India.

31. In paragraph (1), the term simian menace
means a problem that refers to:

A. trappers.

B. barricaded houses.
C. monkeys.

D. grills and wire.
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32. In paragraph (2), one woman said that
sometimes she feels like she is:

A. ananimalina zoo.

B. avisitorin azoo.

C. stretched in her living room.

D. chained to her doors and windows.

33. Why do some people keep their refrigerators
and water tanks locked?

To keep:

A. their home supplies protected.
B. them from being ripped apart.
C. the monkey trappers away.

D. the doors and windows open.

34. According to paragraph (3), what do the city
authorities say the main cause of this problem is?

A. Too many monkeys.

B. Refrigerators and water tanks.
C. Too few monkey trappers.

D. Clothesin the open.

35. According to paragraph (3), how have city
authorities tried to get help solving this problem?

A. Advertising in newspapers.

B. Putting notices in the market.
C. Searching all of northern India.
D. Not responding to invitations.

Instructions
Choose the best answer to complete the
following sentences and mark it on your answer
sheet.

36. Tom always takes an apple with him to school

and it at lunch.
A. ate B. eats
C. has eaten

D. will eat

37. | cangive Khalid that message for you when |
him at dinner tonight.

. will see
see
have seen

oNw>

will be seeing

38. Thisis umbrells; is over there.

A. your [ my
B. mine/yours
C. my/your
D. my/yours

39. The teacher graded the students’ papers last
night. them during class today.

A. ltreturns
B. She returned
C. They returned
D. Hereturn

40. Sally would have forgotten her book
reminded her to take it.

A. if heisn't
B. if he hasnt

C. if we hadn’t
D if we haven't

Stop!
End of Section.
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Section Three

Items: 41 - 60

Time: 25 min

INSTRUCTIONS

* Thereis only ONE correct answer to each question.
* Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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Instructions
Read the following passage, then choose the best

answer to each of the questions that follow and

mark it on your answer sheet.

Passage

1) The title of an interesting article in The New

L)

York Times (May 19, 2001) is the question, 'If
Richer Isn't Happier, What Is?' In the article
David Leonhardt explores two common ideas
that we all tend to have — but two ideas that
don't exactly fit together. Although most
of us unthinkingly consider both ideas to be
true, when we stop and put the two ideas side
by side we have a problem. The two ideas
contradict each other, thus both of them can't
be true. Here they are: a.) The more money
people have, the happier they will be. b.)
Money can't buy happiness. Do you believe
both statements are true? If so, how do you
reconcile the apparent contradiction?

Mr. Leonhardt, in searching for an answer,
explores the way in which economists and
psychologists have approached this issue.
Economists have traditionally not seen the
necessity of conducting surveys. They have
assumed that the richer a person, a family
or a country is, the more they can buy and
therefore the happier they will be. Thus, there
is no need for surveys or research. Nowadays
many people take possessions for granted
that, before World War II, could only have been
owned by the wealthy elite. Some examples of
things that we probably all would assume add
to someone's happiness are second and third
cars, international vacations and pursuing an
education abroad.

Section Three: Model 2

3)

4)

However, sociologists and psychologists are
finding that this isn't necessarily true. Up to
a certain point, it seems to be true. But then,
another principle comes into play. That is, the
more money people have and the more things
they can buy, the greater and greater their
desires become. For example, a man buys a
new car. He is happy with his new car. Then
he starts to have thoughts of a bigger, better,
more expensive car. And so it goes with
virtually any material possession. The more |
have, the more lwant—and itgoes on endlessly
with happiness being only of short duration
until once again a new aspiration appears.
This is known as the 'hedonistic treadmill' in
the literature of 'happiness researchers' who
are still exploring this field.

In the meantime, you and | may react to these
findings by wishing that we had a chance to
more fully experience the unhappiness at
the upper levels of the hedonistic treadmill!!
But perhaps another question should be
asked: At what point of becoming richer does
unhappiness outweigh happiness? Are you a
volunteerin an experiment to find the answer?

Questions

UnNwp

. What does Mr. Leonhardt's article explore?

. What rich really means.

How the rich are happy.
How much money the rich have.

. What money really means.

42. According to paragraph (1), why is it that most
of us tend to believe two opposite ideas?

A.

B
£
D

. We reconcile both ideas immediately.

We put the two ideas side by side.

. We don't think about them thoroughly.

They are not contradictory in any way.

@
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43. According to paragraph (2), why have
economists NOTfelt the need to conduct surverys?

They have always considered that:

A. the rich don't need to buy.

B. unhappiness automatically means poor.
C. surveys aren't reliable.

D. buying things creates happiness.

44. According to paragraph (2), what used to be
true about the possessions many of us take for
granted today?

A. They were only for the economically well off.

B. They have always been necessary for happiness.
C. They were taken from the rich during WW I1.

D. They became a little less important than before.

45. According to paragraph (2), what kinds of
things do we usually consider important for
happiness?

A. Expensive vehicles, long vacations, and
international insurance.

B. Automobiles, extensive  travel, and
international education.

C. Several cars, international businesses, and
expensive schools.

D. Luxury brands, international economy, and

elite education.

46. What was true about education abroad before
World War 117

A. ltused to be much less possible than it is now.
B. Fewer wealthy people took advantange of it.
C. It was asign of an elite psychological pursuit.
D. Poor people had fewer possessions because of it.

Standardized Test of English Proficiency

A Guide for Students

47. According to paragraph (3), what happens
when people are able to own more and more
things?

A point is reached where:

A. great possessions result in an increase in
happiness.

B. owning more increases the desire to purchase
more.

C. the more one owns increases the level of
satisfaction in life.

D. great possessions result in longer periods of
happiness.

48. Which of the following is closest in meaning to
the word aspiration in paragraph (3)?|

A. possession
B. success
C. answer
D. desire

49. According to paragraph (3), how do 'happiness
researchers' refer to the phenomenon in the
article?

They refer to it as:

A. the hedonistic treadmill.

B. the literature of happiness.
C. sociological research.

D. psychological research.

50. In paragraph (4), at what point of becoming
richer does unhappiness become greater than
happiness?

A. When the market losses are too great.
B. When the upper level lacks volunteers.
C. Researchers haven't found the answer yet.
D. It depends on the time for the experiment.

Section Three: Model 2
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Instructions
Choose the best answer to complete the
following sentences and mark it on your answer
sheet.

s1. | am taking four classes at the university.
of them is English.

A.One B. Most
- C.Some D. All

52. The price of coffee for the past 5 years.

A.isgoing up
C. has gone up

B. will go up
D. had gone up

53. He isvery tired because he here since
Fajr.

A. had been B.is

C.was D. has been

54. One of my best friends to visit me

next month.

A. has been coming B. will be coming

C. had been coming D. must be coming

55. He didn't write during the exam. He

just sat there looking at his paper.

A. something B. nothing
C. anything D. everything
' 56. [ arrived, he was talking on the phone.
A. After B.Once
C. When D. While

57. I'll go swimming tomorrow it's cold.
A.even B unless
C.since D because

Section Three: Model 2

58. The research project will take time
money.

A. neither [/ but
C. either/and

B.some/also
D. both / and

59. you need more information, call me
at home.

A. In the case B. In a situation

C. Inthe event D. In an emergency

60. Khalid: Who do you think is going to win the
game tomorrow?
Walid: Well, our team has better players, so
we win, but you never know.
Anything can happen in sports.

A.ought to B. have to

C. must D. will

Stop!
End of Section.
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Section Four

Items: 61 - 80

Time: 25 min

INSTRUCTIONS

There is only ONE correct answer to each question.
* Becertain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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' Instructions

'Read the followin'g: péssages, then choose the
best answer to each of the questions that follow
and mark it on your answer sheet.

. Passage 1

1) A grasshopper spent the summer hopping
about in the sun and singing to his heart’s
content. One day, an ant went hurrying by,
looking very hot and weary. “Why are you
working on such a lovely day?” asked the
grasshopper. “I'm collecting food for the
winter,” said the ant, “and | suggest you do
the same,” and went off to help the other ants
carry food to their storage area. They knew
that food would not be available in the cold
winter, so they were preparing for that time.
But the grasshopper went on hopping and
singing and thought to himself that the ants
were foolish to waste such gorgeous sunny
days doing unpleasant work. There’s always
tomorrow, he thought to himself.

' 2) When winter came the ground was covered

with snow and it was very cold. Nothing was
growing so there was nothing available for the
grasshopper to eat. Since he was very hungry,
he remembered the ants and went to their
storage area. They had lots of food there and
surely they would give him something to eat.
At the storage area he spoke with the ant on
duty and explained that there was no food
and that he was very hungry. The ant told him
he would have to go to the manager of the
storehouse, so off the grasshopper went.

3) He presented his request to the manager who
asked him what he had done all summer when
the ants had worked long and hard to collect
food for the winter. "I was busy hopping
and singing,” said the grasshopper. “Well,”
responded the manager ant, “while you were

Section Four: Model 2
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hopping and singing and having a great time
all summer instead of working, didn’t you
realize that you wouldn’t have anything to eat
in the winter and would starve?”

Questions

61. Which of the following is closest in meaning to
the phrase, to his heart’s content?

A. As much as he wanted
B. Songs about the heart
C. For the sake of his heart
D. More than he can hold

62. In paragraph (1), what was the ant doing?
A. Enjoying a lovely sunny day.

B. Working slowly in the hot sun.

C. Gathering food for the cold season.

D. Going home with the other ants.

63. What did the grasshopper think about the ants?

He thought that they:

A. should stop singing.

B. should work hard for the winter.
C. were doing pleasant work.

D. were wasting wonderful days.

64.There's alwaystomorrow s closestin meaning
to which of the following?

1. There's plenty of time to do the work
later.

2. There's enough time to do the work now.

3. The work should begin in the early
morning.

4. Tomorrow is the best time to play.

65. In paragraph (2), why didn't the grasshopper
have anything to eat?

A. Nothing was growing because it was too hot.
B. Nothing was available in the ant's storage.

C. Someone had stolen all the food he had stored.
D. He had done nothing to prepare for this time.

@
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66. Why did the ants have lots of food during the
cold season?

A. The snow helped preserve the food.

B. Their manager urged them to collect more.
C. They had worked hard all summer.

D. They discovered new places to find food.

67. Why did the grasshopper goto see the manager
ant?

A. He wanted to help the manager.

B. He felt sure the manager would help him.

C. The storage ant didn't have any food.

D. He didn't want the manager to share with him.

68. What is the implication of the manager's
response to the grasshopper?

He wonders why he:

A. was still singing.

B. had enjoyed the summer.
C. hadn't come earlier.

D. hadn't planned ahead.

69. The word starve in paragraph (3) is closest in
meaning to which of the following?

A. be very cold B. be extremely sick

C. be sick from hunger D. be very unhappy

70. Which of the following gives the best general
meaning for this story?

A. It is foolish to be concerned about the
future.

B. We should work today to prepare for
tomorrow.

C. Knowing the best places to find what we need
is important.

D. We need friends who can help us get
necessities.

Standardized Test of English Proficiency
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71. Did the manager give the grasshopper what he
wanted?

A. The passage doesn't give us the answer to that
question.

B. No, because he didn't work when he should
have.

C. Yes, only until things started growing again at
the right time.

D. Yes, only enough for one day so that he can
work.

Passage 2

1) Fortraveling about on land, the chariot or the
carriage necessarily depended on an animal to
make it move. Usually the animal was a horse,
but depending on the location and availability,
the animal might be a donkey, a camel, an
elephant or even a dog. The only alternatives
(excluding royalty and the very rich who were
often carried by other people in sedan chairs)
were to walk or actually ride on the back of the
animal, although it would be difficult to do so
on adog.

2) All of that drastically changed after the
invention of the horseless carriage or
automobile, known these days simply as the
car. No animal is needed to make a car move.
It makes itself move by power generated from
the engine, resulting in the name automobile.

3) Thanks to the car, we can go from place to
place with much more ease and getthere much
faster. Unfortunately, the exhaust fumes from
the burning of the fuel that powers the engine
is a significant factor in the contemporary
problem of air pollution. Progress has been
made, but at a price.
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Questions

92. How did the common people travel before
here were cars?

A. Eitherin carriages or walking.

8. Either by walking or in sedan chairs.
. Byriding on dogs or horses.

D. Being carried by others or walking.

73. How does a car make itself move?

A. By propelling fumes.
3. By the power of the horse.

. By inventing its mechanism.
D. By the power of the engine.

4. In paragraph (3), what is said about the result
of using petrol for cars?

A, Petrolis significant as an important fuel.
It contributes to the problem of air pollution.
It is a sign of progress in modern times.

o o

Petrol is why a car is a horseless carriage.

7c. What can be inferred from the last sentence of
this passage?

A. Real progress is truly free.

B. Good truly comes from the changes of
progress.

C. Progressis a mixed blessing.

D. Life has only improved with the coming of
progress.

Instructions
Choose the best answer to complete the
following sentences and mark it on your answer

sheet.

76. Ali: What does Saud do for a living?

Badr: at the university.
- A. His professor B. He's a professor
- C. He'safather D. His father’s

Section Four: Model 2
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77. Khalid: Are those people Chinese?

Ali: No, | think Japanese.
A. their from B. they're
C. there D. they're from

78. My favorite class is history because

A. it's the one which | do best in.
B. which is the one | do best in.
C. it's the best one which I do in.
D. which | do best in that one.

Instructions
Identify the incorrect underlined word or words

and mark your response on your answer sheet.

79. Most of us assume that as people get older,
they grew wiser. That doesn’t always seem to be

correct.
A. assume B. older
C. grew D. doesn’t

80. Which of the following has the correct

punctuation?

A. Most people who drink coffee don’t know
where it comes from it is actually the fruit of
an evergreen tree.

B. Most people, who drink coffee, don't know
where it comes from; it is actually the fruit of
an evergreen tree.

C. Most people who drink coffee, don’t know
where it comes from. It is actually the fruit of
an evergreen tree.

D. Most people who drink coffee don't know
where it comes form. It is actually the fruit of
an evergreen tree.

Stop!
End of Section.
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Items: 81 - 100

Time: 25 min
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¢ Thereis only ONE correct answer to each question.
* Be certain to completely shade the circle of the letter of your answer.

Do not turn this page until you are instructed to do so.
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Instructions
Choose the best answer to complete the
following sentences and mark it on your answer

sheet.

Arabic and English, but he
Chinese.

A. knows [ doesn't speak
3. doesn’t hear /[ understands
. understands / doesn't hear
D. speak/ doesnt knows

82. Thiscaris than that one.

A. expensiver
B. more cheaper
C. cheapest
D. more expensive

83. Hasan came into the room and asked me
| knew what time it was.

A. when
B. whether
C. why

D. which

84. | have tasted such a delicious
sandwich!

A. ever

B. never

C. usually

D. always

85. Pierre France.

A.in
B. will be from

- C. comes from
D. from

Section Five: Model 2
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86. The package yesterday is for the

children.

A. which did arrived
B. which has arrived
C. which can arrive
D. which arrived

0

7. Will he keep his word a promise?

if he makes
if he does

after he says
when he does

B2 o0 i

88. We were eager the film.

A. forseeing

B. about looking to
C. tosee

D. tolook to

89. That was film I've ever seen!

A. more boring
B. the most bored
C. most boring
D. the most boring

go. Heran to win the race.

A. too fast

B. the fastest
C. fastenough
D. very faster

g1. He exercises that he is not in good

shape.

A. so little

B. not much
C. very little
D. too little so
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92. What would happen
button?

| pushed this

A. when
B. whether
C. while

B ' if:

93. | like my teachers this year. All of

them are kind, unlike last year.

A. too much
B. very much
C. more than
D. so many

94. The man the room is my history

teacher.

A. who just enters
B. who enters in now
C. who entered in now
D. who just entered

95. Itis very important for you to be the
meeting tomorrow.

A. ontime for

B. atthe time for
C. attime at

D. ontime to

96. Many tourists love to vacation in Salalah in
Oman it has natural beauty that is
unequalled in the Gulf.

A. therefore
B. since

C. however
D. so

2
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g7. If he , he would get much better

marks in all his classes.

A. had longer naps

B. ate more fast food

C. had better study habits
D. bought a new car

98. Which of the following sentences has the
correct punctuation?

A. Aliis very good at mathematics and science,
but he doesn’t do well in English, Arabic or
history.

B. Aliis very good at mathematics, and science;
but he doesn't do well in English, Arabic or
history.

C. Aliis very good at mathematics, and science.
But he doesn’t do well in English, Arabic, or
history.

D. Aliis very good at mathematics and science
but he doesnt do well in English Arabic or
history.

99. Choose the best order so that the sentences in
the box below form a logical paragraph.

1. Later he discovered that he didn’t like that
subject.

2. Hisinterest shifted to law.

3. Saleh majored in chemistry at first.

4. With his parents’ approval, he withdrew
from chemistry and switched to law.

A. (4),(1); ), (2)
B. (3), (2), (2), (4)
C. (2),103), (), )
D. i3), (4),13), 3)
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100. Look at the 4 sentences. By using the word
but, which two sehtences can be combined to
make only one sentence?

1. Later he discovered that he didn't like that
subject.

2. Hisinterest shifted to law.

3. Saleh majored in chemistry at first.

| 4. With his parents’ approval, he withdrew

from chemistry and switched to law.

Sentence (1) and then sentence (3).
Sentence (2) and then sentence (4).
Sentence (3) and then sentence (1).

N

Sentence (4) and then sentence (2).

Thank you for following the instructions.
Wishing you a successful future.
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